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1. Garemt Diaiad(hdHel, 35'TEHT6INHITBH
OV % A% 101 |

Cxramr Aenalamenr (Measurement of angles) P
O-2 54
Ox - gygbuds Can@
SI00E Blemewds Carlh y@ib.
> x
Ox @a0phe BLehsfluns ©
SiNGSIUGID CoTemmidbeir,
Cpie Gmrammisst (positive angles) 0 > X

SIMGYID, 6UEVEHSHIOUITE DINBBLILGD BHTeubigmer
wenphCaTammiss (negative angles) stenayib

6uEMI WM SLILHID.

Camemmtibs LTen@GUT6D DIEVEVGH DYMTWSNED SINSBBUILIGLD.

oyemqwer (Radian)

O 61 DDWIDTHEYD 7 g YJUITERID 2 DLW eIl LD PELTMME  HHGIS.
L F &G HenHHed FWwTs 2 6ien elled AB eraflar, eflsv 4B ullemmsy
aowid O elled eiFgemossiLiBh Comemid 1 syenqwet semlLIED.

lC

ZAOB =1 geqwear = 1° aas @lissiLGo.

360° =21 QoW SuEW.
B

o_2m _ m .
360 180 <“2OTLeT

-

{DBIHENEOWLIN S

21 gsmgwsr = 360°

360°
2n

| sysoywenr =

_180°
b

=57-3° (oimismeneua)
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360° =21 SUOJWE GIGILISTE

T . 2n

180° =7, 90°=—=, 60° = =, 30° = P 120° = 3 BOIUGS QY.

2 3
ai’ L. alseleoraifear Berib

r georwenw eflsbGeursiip (AB ea16ies)
alLenwwid O eflsd aHTenoHGL0D
Canemd O Syenywed erefa,

alL oflsd ABuien gemb 70 sy@ib.
opemy&FFenp (Sector)
el L Quoneiifisit @m DLemyE6i

0A, OB sisiusupmrspid eflsd AB ullemgnb

DILESLULL 2 UOIFFmB seLIBLD. 0

4y r e, Csremn AOB wreng 0o
0 YWeITSEaD RHbD

sersfenn AOB Wier uyliy %rze UG LD.

HfCasrem sanls atedpmser (Trigonometric ratios)

CrnlBsrem (wos8aremil ABC ulsd
Carauid ABC @m GomBamrenib.

AC - Qebussw Hew. Csremb ACB= 0 adis.

sin® = SHTLILSSED AB
T Gebuss AC
cosO = ———%w@%&.m = ———BC yl"
FIDLIG LD AC B
C
tan0 = M = —— 6 QUIWDHISSILGD.
SILEOUSSHLD BC

02

. tanG—AB _ 4B 8 AC
Cogoid BC

AC ~ BC
sin® .
= YGID.

cos9

1an® = sin

cos 6
secO =
co sin®
ec =
g cos®

cot § = Tanf T8 SUIETURSSLILGD.
30°, 60°, 45°ufesr ﬂrf‘@&':rrm&.asoﬂs oTa5H I 6IT

2a usspeist Fouss PH8eTeRR ABC b &GHSHIS.

AB = BC = AC =2a gi@W.

AD , BC Wpe GmigHsmEi.

aen@sy BD = DC=a gob.

QFmiBarem (pobasrenfl ABD uflsd
AD? = AB? - BD?

= (2a)2 - a? =3a%

AD=a\/§
5in60° _AD_af3 3 60
AB 2a 2
BD 1
cos 60° == =2 -~
AB 2a 2
1an60° = —;‘% _fa_ 3 aeo.
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s5in30° BD_a _1
AB  2a 2
o AD fa \/3
cos30’ =—= —=—
AB 2a 2
ST J S N
ST e
POR eeiiug) @mswouss Ganmbsrem (LpsGsmemi. 0

Gamemio POR=90° ; PQ = QR = x e6i&.
CemiGsrem (p&HCoremil PUOR @b

PR? = PQ? + QR?

=x% + x% =252
PR = x2 sy@. P R
sinds° = > ; cos45° = 2 , tan45° ==
xV2 xv2 x

1

1 . _—
7 ) =1

ang HNCsrew ewlld elldFmrset wreyd WohCoaremiulien L&smiSeaTen
Bohiseied HRBUIBbEalc0men CTEHILIENG DICSHTMNBS.

y
FaiBIGHTEMIMIB EHEE oL BLoesi
abs @0 Caranshdnew HiCsrem safsp alldsb
Ueiieumlongy sxenjwBibsLLIBLD.
P ('x)y)
QCseileusd OHEHEHTIQET HEND @ENMDE HHEBISH. ‘
X,y SIFHSSHsN Oeul B Lsie
2 _Busd O b

<)
g

O 61 enWIDTSHAYID, 7 g LT WTEHOD
CaremiL. 6l L Qorsitenmd HHEIS.
el LsAen ufgdulled sited P wreng
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<Y

CaTemid POX =0 <WSWIH 2_6T6NGE 6161,

PE(x,y),' OP=r g
sin9=z,' c0s6=£, tar19=—)i
r r x
cosecH = r ; secO = r , cotB = X
y x y

61601 GUEMTWIDISSULIBLD.

FrCxransails effsrsatar @dser (Signs)

(i) 0 <08°<90° (i) 90° < 0° <180°
y Y
N
X,
P(x . y) (x, )
% : : N 0
NS 0

0< 0° <90° aiafien

yetiefl P =(x,y) wppeomd sred
UL SHHeNHEHEW.

senGey x>0,y >0

v oeBurgnd GBI @b

5in0 = 2 >0
r

x
cos0 =—>0
r

tan 9 = 21->O
x

05

90° < 8 <180° eiafair

usied P (x,y) @gebimp
VIS T ¥: AN Y: 36T
eiem@sy x <O, y>0

r>0

sin9=—)i>0
r

x
cosO==<0
r

ano=2 <0
X




180° < 0° < 270°

5

270° <0 < 360°

y

\9

y
(N

P(x.y)

180° < 06° < 270° eredisir

ysiel P = (x,). apsimmp
ST UL HFH60 BiEHOUD.
U6 x<O0,y<0 W

sin9=l<0

r

x
cos 6=—< 0
r

tan @ = X>O
X

sin+

270° <8 < 360° ciclel

ysitedt P = (x,y) prenasmb
&I UL S0 BIsHLOUD ‘
@ue x>0, UG

sin9=l<0
r

x
cos8=—>0
r

tan

tan® = Y < (0]
X
sin
cos} +
tan
AN
7
+
cos
06

A\

P(x, y)

O’ Sangpibd 90° Saigid HTCHTem Hawis aledsmriser

A . Ny
QLSS U Op = r QYGW.
B
8= 0° ocflel, pP=4 UGWD. .-
Ad=(x;y) =(r,0) asw P
sin0° =2 -Q=0 9 “
ror
x r ¢ 0 Al 7
cosO =—=—-=1]
ror
o y 0]
tanQ” ==~=—=0
x r 2SO
8 =90° eaflelt, p=p @ewL, B=(0,r)
sin90° = L =L =1 g
ror RS-
X _
cos90°== === 0 b.
ror RGL
o Yy r
tan 90 =-x—=—0-— 8% suenwEIbELIUL aflsbensy

@sweurm 180°, 270° esweupiear HNCorem @erlls efdsmimanenub.
&6l &BeuTLD.

8° 0° 30° 45° 60° 90° |180° 270°

1 1 NE) ,
. A0 — —— _ -
sin Ov 0 > Nz > 1 0 1
N 1 1

cos®® |1 5 2 2 0 -1 0
1

tan@®’® |0 [_3 1 NE) * 0 *
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0°,90 - 6° eauubIDalenL GuuTer FHTNCH TS ND. sin® =21 cos6="L anp=2

. r r x
ol eV HTL TL ANY !
' B P (00" +0) =22 _ 1 _
LPOx=0 ZPOx=90-0 2 sin (90" +6) =22 = °L = cos 0
= - P o= , 1. , _
A (XI , yl), 2 (x2 y2) o P, cos (90° + 9) =220 o ing
9 b r r
sin@ = Z‘—‘ N . ) N
r ] N tan(90+0) ==t =-"L=_cor
" x ' C | 0 N M A /x’ x2 W
1
cos® =—
’
60, 180 - 0° aauabBbadenrL Guurer AL P
— _};_1 o .
tan 6 = X afalhd 61HTL_TY
OMP, , 4 P, NO ¢l A3 .
a4 1 2 IGHILIET  (HRISMF CUTETemeY LB Ox=0: P, Oc=180-0 sy
aeiBen, Yy =Xy, X; = Y| UG
A =(x :)’1) ) -:-(x? ’)’z) 61601,
: . y x
sin (90 -e)=—rz-=—rl=cos9 A OMP, = A ONP, )
B Yy = Yy, Xy =~ X; PG
cos(90°-—6)=x—2=11—=sin9 2 b ]
r r ‘
sin = &. Py ("2 ,yz) 12098 £y (xl'}‘l)
tan(90°—-9)=y—2=x—l=cot9 4
X2 N . 9 5
cos@ =~ N o w
0°,90° + 0° asabPDden_Cuuren FHFCHTaw®H S iano =
an = =1
alad® e HTL Ty y X
. _ i) ("2 ,y2) . o Ya N .
éPle=9,ZP20x——(90+9)i P\ (57.) sm(lSO —6)=—;—=—;—=sm9
R=(x,n); B=(x,y,) ads _
COS(180° —9):52—:——)"-—I = —cos O
A40MP, , A P, NO easuen _ r ’
N

@@rﬁneﬂm&mnaﬂ@m ran (180° _ 9) _n N an

. . X2 Xy
aeGe yy =x); X3 = -y QUGW.
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2 grjemons  sin 120° , cos120°, tan 150°  eiusupiien - QUEIOTEIMBIEGST

el

sin 120° = sin (1so° - 60") = sin 60° = 5

cos 128= cos (180" - 60") = —cos 60° = 1
: 2
tan 120° = tan (180° - 60°) =—tan 60" = -3 G0,
0", 180 + 0° aatuabBbsden Cuuiter HFCHTaNHalD
afdsd OHTLTY

ZP Ox=6, £P,Ox =180+6°

Yy
P=(x,»n) B=(x L Y,) aes.
AOP, M =AOR N
=-yin=-¥ ' Py
sinG:iv—l-, cogG:ﬂ_ Nl 9 o,
- " ; < o
N ‘
tanG—; By (v3.02)
sin(180+9)=-yl=..?_’1_=_s,-n9
r r
cos (180 +8) = 22 = ~ZL = _ cos®
r r
tan (180 +0) =22 = YL —1an g
X2 Xy

o _Fnyemons sin 210° , cos 210° , tan 210° esiuaublien QUpIOTIkIEST
1
sin 210° = sin (180° + 3o°) = - sin30° = -

10

cos 210° = cos (180e+ 30) =~ cos 30° = -

N]&

tan 210° = tan (180° + 30) = tan30° =

L
J3

0°+ 360°—-0 as&lumbﬁj)a?mLG@mnm AR O Xy

ol 85556\ HTL T
ZP, Ox=0, LP, Ox=360-6 Ny
B=(x,»n) B=(x ) (1)
Piix;.y
X=X,V = - N R
sin9=&,cos6=f'—,tan6=zl— 360'—6
r r . Xy
( rM N
c o N6 “x
sin (360 — 6) = 22 7N g
r
cos (360‘— ) = BB cose . h
) r r i) ("2')’2)

tan (360-0) =22 =~ 2L = _yan 0
X2 X

o _Gemond sin 315°, cos 315° , tan 315° B QUEpIOTEILIGET
sin 315° = sin (360° - 45°) = - sin 45 = L
2
cos 315° = cos (360° - 45°) = cos 45 = L
, 2

tan 315° = tan (360°,,~ 45°) =—tand5=-1 @b

1



9°,(—9) aguabshadeL Cuuren HfCsTen sHafs

afads50 STy

ZP O, =8, LPO,=-8

A (%)
B =(x.2); Py(x.9,)
Ny
=0, =%
x y B
sin6=ﬂ-,cos9=—-l—,tan9=—l A (xl'yl)
r r x|
sin(—e)-—Jirz—-——:ll—=—sm6 A M\ o
%) e 7
x
cos (-0) =2 =L = cos0
roor
tan(—G)—ﬁ——-—yi=-—tan9
X X Py (x3.,)
2 HIJERIOTES

sin (— 3o°) =-5in30° = - % ; sin (— 120°) =— sin120° =

cos (—; 30°) =

tan (—30°) =—tan 30° = - yﬁ ;tan (-120) = - tan 120° = 3

12

cos 30° = 12_?— ; €OS (—120°) = cos 120° = —

sreugwarut@ser (Identities)

(1) &

(1 @

Ny
P=(x,y) B..
P(x.y)
x* +y? =2
2 2
x Yy
—_— +._=1
r r?

(cos 8)° + (sin 8)° =1

PR R JE T I [———

BmussIL cos’ O ‘am') Vs,

cos® 0 + sin® @ _ 1 P(x.y)
cos’@ cos® ©

cos’®  sin® O _ 1

cost®  cos’®  cos’ O

=\

1+ tan’ 8 = sec? @ -—-mnem- )

BousswL sin’0 v NGs

cos* 0 + sin® © 1
sin®® sin® @

cos*® sin* @ 1

sin*®  sin® @ sin’ O

cot’0 +1 = cosec’ @ €]

13
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coszﬁ + sin2 0 =1

1 + taﬁze = sec26

1 + cot>® = cosec’ O

y=sinx @i euenyL|.

Bri@ x e 616060TL QugTaEGEpESWw —~1 <y <1.

y=CcosXx @ei auemyy

X @6t e16060M) QUEIOTAIHBEDSESW —~1< y < 1

14

y=tanx @ein suemJ

-27n

NN

| |
I I
I I
I I
I I
/]
I |
| I
I I
I I
| I
I I
I I

y=tanx @60 e6veor GLOWILI GUEIDTEIRIGENENUD 61(HEHGLW.

?

Taed; ..

f(=x)=—-f(x) eaalar, f(x) g sniy gpops &Tiy
(odd function) erenUGLD. '

f(=x)=f(x) aafan, f(x) eeug Qiené gniy

(even function) sientILBL. ‘

f(x) =sinx eas.

f(=x) = sin (- x) = - sinx = = f (x)

aeiBey f(x) =sinx ghops sTIY G

g(x) =cosx eeis.

g(-x)= cbs(—x) =cosx = g (x)

oa8e, g(x)=cosx @LeLé sy QGW.

h(x) =tan x ass.

h(-x) = tan(~x) = —tanx = - h(x)

steGe h(x) =tanx eSILG QHEODE ST QUGID.
15
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spaunigpens smiy (Periodic Function)
X @6l 616060T QUUILTRIMRIBEHESID, FTiL f(x) ST,

fx+E)=f(x). k>0 k g5 wided aa @olar f(x) eaaug
t'Qg,snf'rggsmmrrsm-»:;rrr‘ru sRIUUBL. & @ &S Adw QuEoTed sritle yeutshsearn
&reutd (period of the function) GGITUU@U')}
gifiGsrem saflss sriysen s16060M LD YPoUTSHSEMoTeened, Sin X, cos x
sIuOIDBIeN YTHSM HTOW g 2 1D fanx @en SNt & SHMBT6VLD.
T 210 H&W.
Yy =cosecx el FTieNUS H(HGIS.

Bue y< -1 ooz ¥y21.p, -1 goew 1 @pedoruis e
GupoTeSenGuid IBHBTHL. . |

BeuaurCp ¥ = secx aaflel, y<—1 owoem ¥y 1 sy
y.-1 @pew +1 @bebe Gy suCupmorersmswyibd BCEE N
y = cosecx,

y = secx aeueubien SeuTdheHen &Teod
2n 2 b, y=cotx Qe QeiGSa STed

M 21 YGLW.
QUM TYBHET

(1) §ine and Cosecant

PN
I (94" .
\ )
v !
\ /
\ ’
\ /*"'y- CoSec @
\ 1
\ ’
\ ’
\ ’
~ s
.
y!
Y Sing
-1, x
2 A ™ a% am, P
', ~ q-4
\\\ . \\\
I's
\
< vy
\ ’ A
\ / \
\ / \
\ / \
14 \
\ 1 )//2\-
\ | Y= cofec 9 "
! ¢ f
16

(2) Cosine and Secant

' ¥ ) !
\ i ¢
\ ) :
\ \
\ f——Yy= sec®
\ ST e \
A) ’ \\
. /-
\ / \\
\\ y A
~ N ‘/ \‘
//'
-———-Y=cos e /
>0
-, ) \J .
Y /a my 2w
Y
N
/’ A .
g T Y swco
4 \
\
\
A)
Al
()
\
H
(3)' Tangent and Cotangent
Y
hy i
t \
1
' "
! \
\ \
\\ ' |y tan®
\ ' -
\
A
\ \
\ \ .
1y cote Wy cot
\ N \
AN < R
T, ° " T o
4 % % -
\\ o \
\ Y
\
\
\ A
\\ \ \
e— 3-,&»:9 v '
\ . ' \
\ \
| ' \
' 1] ]
!
\ '-. -
1
| |
|' i )
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o gryswnd 1

teeumersiouBis GUDIDTEIMISMETES  SHIF 6N SH.

@)  sin510° ()  ¢os960° (¢) tan (— 870°)

(a) sin 510° = sin (360° + 150°) = sin 150°

o o o 1
=sin'(180— 30 )=sin 30 =5

(b) cos 940° = cosEx 360° + 24o°]

= cos 240° = cos (180.+ 60°) = — cos60 = —-%

(©) fan (—870°) =~ 1an 870° = - tan (2 x 360° + 150°) |

=- tan 150°

- tan (180° - 3o°)

D _FHuyewnd 2

Boeys.

1
(i) ——— =gsin Acos A
cot A+ tan A

1
i ——————=secA—-tan 4
(ii) secA + tan A
1

(i) B.ens.u S ——
cot A+tan 4

i

1
" cos A . sin A4
sin A cosA

18

1
cos®> A+ sin® A
sin A cos A

1

= "——'—‘1——'—— = 1'xsin Acos A

sin A cos A

= ql.en%.U
=5in A cos A
1 ,
————— =gsindAcos A
cotA+tan A
(ii) B.emdU = -———1
secA +tan A
1 secA - tan A

X
secA +tan A secA —tan A

secA —tan A

sec’ A - tan® A
=M =secA — tan A
2_gTyennd 3
Paieys.
(sec® + tan® — 1) (sec® —tan© + 1) =2 tan 6
ey = (secO + tan® — 1) (sec — tan 6 + 1)”

= [sece + (tan® - l)] [sec 6 - (tan 6 - l)]
= sec? 9 - (tan® - 1)2

= sec? 0 - [tan2 6 - 2tanb + l]

It

sec’ 0 — tan’0 + 2tan® - 1

1 +2tan6 -1 b
= 21tan©
19 .



o FHryswnd 4

Bimieys.

() (sec A + cos A) (sec 4 — cos A) = tan® A + sin® 4
@.a.L(sec + cos A) (sec A — cos A)

= sec2 A - cos2 A

= (] + tan2 ) - (1 - sin2 A)
= tan2 A+ sin2 A

D _HAyemnd 5
tanA +secA-1 1+ sin4
tan A — sec A + 1 cos A

tan A + sec A ~ 1
tanA — sec A + 1

B.0&.U _

(tan A + sec A) - (sec2 A - tan® A)

tan A - sec A +1

_ (sec A + tan A) — (sec A + tan A) (sec A - tan A)

tanA - secA + 1

(sec A + tan A) [l — (sec A - tan A)]
- (tan 4 - sec 4 + 1)

_ (sec A + tan A) (tan A — sec 4 + 1)
- (tan A4 - sec 4 + 1)

= (sec A + tan A)

1 sin A 1+ sind
+ -

= = G.eNG.U
cosA cos A cos A

tan A+ secA-1 1+sin A

tan A — secA + 1 - cos A

20

D _FHrjemnib 6

1 1 1 1

cosecA —cotA sindA  sind cosecA + cot A

1 1
cosecA—cot A sinA

@.emau "

_ cosec A + cot A 1
(cosecA — cot A) (cosecA + cot A)  sin A

cosec A + cot A
N 1

=cosec A + cot A — cosec A

—cosec A

= cosec A — (cosec A — cot A)

1 (cosecA — cot A) (cosec A + cot A)
sin A (cosecd + cot A)
L I = 6U.0%.L
sind cosec A + cot A T LS

1 1 1 1

" cosecA-cotA' sinA  sinA cosecA + cot A

D _FHTyesmd 7

1+cos9+sin6__ 1+ cos6

1-cos® +sin®  sind

@.avm.u _ 1+ cosO + sinB
1- cos © + sin B

_ (1+sin0)+ cos® (1+ 5inB) + cosO

= X
(1+ 5in8) - cos @ (1 + s5inB) + cos®

21 |



_ (1. + sinG))2 +2cos 0 (1 +sinB) + cos® ©

3.
(1+ sin@)2 ~cos? B
.2 . . 2
(1+ sin6)° + 2cos6 (1 + sin6) + (1 — sin 9)
1 +2sin0+ sin2 0 - cos2 6
. 2 . .2
(1 + 5in®)° + 2cos0 (1 + sinB) + (1 - sin 9) 4.
B 25in8 (1 + 5inB)
~ (1+ sin ©) + 2cos8 + (1 - sin 0)
B 2 sin®
_ 1+ cosB
sin®
uufpd 1
GUIOTEIE! ST » ' 5.
(@  sin480° b C"S(‘ 8700) (©) sec 570°
o 6.
G wt(- 675°) (€) sin 2460° (® cot (—315°)
7.
@)  5ind20° cos390° — cos (— 300°) sin(—330°)
9.
 sin 300° tan330° sec (—420°)
(b) R " - 10.
cot 135" cos210° cosec315
cos (g + A) sec A tan (n — A) L
(©) - :
sec (2n — A) sin (1 + A) cot(% - A) 12.
13.

sieLcuDsl QUIIDTEABIEMENE HIT6NI5H.

22 .

Ueoumerseumens Bipieys

(a) sin 420° cos 390° + cos (— 300") sin (- 330°) =1

(d) cos 570° sin510° — sin 330° cos 390° = O
(c) tan 225° cot 405° + tan 765° cot 675° = O '
sieumenencuiBens Bipieys

3
(a) cosA+sin(§2£+A)—sin(—}—A)+cos(7t+A)=O

(b) sec(:—;;——A) sec(g— A)—tan(3—2n-— A) - tan (%+ A)=~l

(c) cot A+ tan(m+ A)+tan(g—+A)+tan(21t—A)=0

Wefisumeuansumens Hlpieys

L + L =2sec2 A
1-sinA 1+sin4
sinA 1+ cos A 2 ~2 cosec A

1+ cosA. sin 4

1+ sin A '
\‘ 1-sind = secA +tan 4 8. cost A sint4+1 =2 cos? 4

(cos A - sin A)(1-sind - cos A) = sind A+ cos> A

1 -1
+
1-cosA 1+cosA

1_—__cos_A_ = cosec A — cot A"
1+cos A

cos6 A+ sin6 A=1- 3s_in2 A cos2 A

= 2-“c0s ec:2 A

(sec © + tan®-1) (sec® - tan® + 1) =2 tan®

23



14,

15.

16.

17.

18.

20.

21.

22,

24.

25.
26.

27.

28.

29,
30.

31.

33.

34,

4 2

cosec' A — cosec 2

A = cot A+cot4A

cos A sin A4
l—-tand 1-cot A

=sinAd + cos A

(sind + cosecA)2 + (cos 4 + secA)2 =7+tan® 4+ cot® 4

A4 A
cosec cosec P se02 4

cosecA+1 cosecA -1

cosec A

—_—— 2
cot A+ tan A

=cos 4 19. sec* 4 - sec

tan A + cot A= sec A - cosec A

cot4 A+ cot2 A = cosec4 A - cosec2 A
, ‘

_ - 1+¢ A
1-tan A _ cotA -1 23 + tan =tan2A
l+tanA cotA+1 " 1+ cot? 4
\/cosec?'A—l =cosA- cosecA
sec2 A -coseczA = tan2 A+ cot2 A+2

2

tan® 4 - sin

2 A= sin4 A~sec2 A

\/sec2 A+ cosec2 A =tanA + cot A

tan A cot A
l~cotA 1-tanA

=secA-cosec A+1

(sind + cos A) (cot A + tan A) = sec A + cosec A
(1+cotd- cose A) (1 +tan A + sec 4) =2

cot A-cos A _cotA — cos A cot A+ tan B

cotA+cosA  cotA- cos A

cotB +tan A
sin8 A - r:os8 A= (sin2 A - cos2 A) (I - 2sin2 A cos2 A)

4 4

2sec2 A - sec A -2 cosec2 A + cosec ‘A = cot4 A- tan4 A

24

A = tan2 A +:tan4 A

32. ————————=cotA-tanB

35.

36.

37.

38.

39.

40,

41.

42.

43,

44,

45.

46.

47.

48.

(tan 4 + cosecB)2 ~(cot B - secA)2
=2 tan A cot B (cosec 4 + sec B)
(cosec 4 - sin A) (sec A - cos A) (tan 4 + cot A)=1

tan 4 + sec 4 - 1 _l+sin4

tanAd - secA +1 cos A

1 1 1 1

cosecA ~cotA sinA sin A cosec A + cot A

(1+ cot A + tan A) (sin A - cos 4) = secA _ cosecd

cosec’ A - sec’ A

(1+tand+ secA)(1+cot A - cosec A) =2
cos 4 (tan A + 3) (3tanA +1)=3secA +10sin 4
sind (cot 4 + 5) (5cot 4 + 1) = 5cosec A + 26¢cos 4

acos® + b sinB=c;
bcos® — asin®=C aafet g2 + p2 = 202 aan Boieys.

xX=acosA-cosB;y=acosAsinB;z=asind eefeah

x2 + y2 + 22 = a2 o169 BlIeys.

2
secO+1tan® = x eaofle, sin =~ aod BN GE.
2
x° +1
sec® A —tanb 4 = 1 +3tan’ 4 + 3 tan® 4 ees &M (H5.

2cos8 + 3sin = a ‘

3cosO +2s5in@=b eafen 0 g& sy

a,b @ GzTLIGUTEI6I Guguss.

2tan® + sec = A

tan® + 2sec® = p eaflen 9 gF sy

A, u ssusbibalen Cw OFmUiy esitenmpL Cuigys.
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2. sin(Ai-B),cos(Ai B),‘tan(A-_l—B),

sTeuTUIGMBB T AT &6t

OM = QN + NM
= ON + PL

OQ sin (A + B)=PQcosA+ OP sin4
=0Q sin Bcos A+ OQ cosB- sin 4

. sin (A + B) = sin B cos A +cos B- sin A

sin (A + B) = sin A cos B + cos A sin B

(1) BO®HEH
sin (A - B) = sin [A + (—B)]
= sin A - cos (- B) + cos A sin (-B)

=sin A- cos B — cos A sin B

sin (A - B) =sin AcosB—cosA sinB |  ——cceeemecunn
OM =0L - LM
= OL — NP

OQ cos (A+ B) = OP cos 4 — PQ sin4
= O0Q cos B cos A — OQ sin B- sin A

cos (A + B)=cos A cosB - sin A sin B

26

(3) BmhE
cos (A - B) = cos [A +(- B)]

= cosA - cos (- B) - sin A - sin (-B)

=cos A cos B 4 sin A sin B

cos (A-—B)=cosA COB +sinsin B eecomememeeee
in{A+ B
tan (4 + B) = "4+ B)
. cos (A + B)

sinA cos B + cos A sin B
cos A cos B — sin A sinB

16, UGE seLabmD cos A cos B gysoifNems,

sinA cos B + cos Asin B

cos A cos B
cos A cosB - sinA sinB
cos Acos B
sindAcosB cosAsin B
_ cosAcosB cos 4 cos B
cosAcosB sinAsinB
cosAcosB cosAcosB
tan A + tan B

" 1—tandtan B

“tan A + tan B

tan(A+ B) = ———M———
U ) o a5 | ©)

27



: 4 OP )
sin(4 - B) _ sinA cosB - cos A sinB Q @,

tan (4 - B) = cos (A -~ B) ~ sinA cosB + cos A sinB PQ* = 0P? + OP? - 20P. 0Q cos (4 - B)
Cored, UGS easuaBB cosAd-cosB e UNés, =1+1 -2x1x1-cos(4-B)
tan A - tan B =2~ 2cos(4- B) e
tan{4 - B) = 1+ tanA tanB
tan (A - B) = tan[A+(—B)] , 2-2cos(A-B)=2-2cosAcosB - 2sind-sinB
A—-B) =cos A4- ] in B abomerm e
tan A + tan (- B) _tan A4 - tanB cos ( ) =cosd-cosB+ smA_ s Sombem- *
1-tan4 -tan(~B) 1+ tand tanB cos (A + B) = cos [A ~ (- B)] = cos 4 cos (- B) + sinA - sin (-B)
tan A - tanB =c0os A-cos B ~ sin A sin B
tan (A=B) = e (6)

n
soauT® * B&d A WBGH udeors 3 A aen @,

aBbs PO CETeNSBDGH BaramiiuT yesarl Usiapd wpenpulsd - . e .
. cos||~—A|-B|=cos|——A| -cosB+sin|—~A|-sinB
Bpleueomip ‘ 2 2 2

O, :Oy eapisLETam CFmiedHHTen cos [% - (A + B)} = sin A-cos B + cos A sin B
B sEssss, O s @WWIDTSD

| o00@ Popumsab aiLb ey y sin(A+ B) =sin 4 cos B + cos A - sin B
suenywlLGEmE. Caremmisst POx, QOx sieiien p
wpempCw B, 4 gslb. (‘lz,yg) P('t!_v!h)
o FwaLTG + B0 4 uibel udeors g +4 aen @GL
P =(x,, ) =(cos B, sinB) 4
Q= (%, ) =(cos A,Si"A) 4G N 0 M| cos [12':- +A4- B} = cos (—;— + A) cos B + sin («;— + A)- sinB
Y 2 A

PQ* =(x; = x) + (3 - ) ~sin (A - B) = ~sin A cos B + cos A sin B

= (cos A4 — cos B)® + (sinA - sinB)’ sin(A~ B) = sin A cosB — cos A sinB

=[2~2cosA cosB - 2sin4 IV ] [TV T — 1)
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tan A + tan B
tan{A+B)= ————
an( ) 1-tan A tanB

tanA - tan B

- B)= —~X " -
fan (A’ ) 1+tanA tanB.

=.cos A cos B—sin A sinB

)
{ cos(A4 - B) =cos A cosB + sin A sin B

o gHryesnd 1

sin 1050, c0s105”°, tan 15° esiuammiial QUEIDTEIRIGENETS HITEBTS.

sin 105° = cos (60° + 45°)
= sin 60° cos 45° + cos60° sin 45°

1

1
x_——

1
X — 4 —
222
+1

242

cos 105° = cos (60° + 45°)

& w5

= cos 60° cos45° — sin60° sin 45°

1 1 B
2 2 2 2

1-3
242

30

tah 15° = tan (45° - 3o°)

_ tan 45° — tan 30°
1+ tan 45° tan30°

—_
|

i

S
Log-

e
+

o_ZHryewmnd 2

sin (A + B)-sin (4 - B)=sin> 4 - sin® B aenés a1 (s,
sin (A + B)- sin (A4 < B)
= (sin A- cos B + cos A sin B) (sin A cos B - cos A sin B)
= (sin2 A cos® B - cos® A sin’ B)
= sin’ A (1 - sin® B) - sin’ B (1 - sin® 4)
= sin* A - sin* A- sin® B - sin®* B + sin® A sin®> B

=sin> 4 — sin’ B

31



D FHuyesnd 3

cosA + sinA
——— =tan{ A + 45° ; " Ba.
cos A— sin A ( ) aeie SIEs

cos A + sin A
cosA+sind cos A
cosA—-sinA cosA—sin A
cos A

_l+tand
1-tan A

_ tan45° + tan A
1~ tand5° tan A

= tan (45° + A) = tan(A + 45°)

2 guyewnd 4

FHEGHB

sind - sin(B-C) + sinB- sin (C- 4) + sinC-sin(4 - B) =0 eanssn ¢s.

= §inA [sinB -cosC — cos B- sinC] + sinB [sinC-cosA —cosC - sinA]
' + sinC[sinA cosB — cos A sin B] =0
D _FHTjewnd 5
tan {4 +(B+C)} s smd tan(4+B+C) @a clflen apais.
tan(A+ B+C) =tan {4+ (B +C)} |

~tanA;f~tan(B+C\)
l—tar\zA-tan(B+C) ‘

tan B + tan C

1-tan B-tan C
tan B +tan C
1 - tan B tanC

32

tan A +

1 -tan A-

tan (1 - tan B tanC) + tanB + tan C
" 1-tanB-tanC - tan A (tan B + tan C)

tan A —tan A tan B tan C + tan B + tanC
1 -tanB-tan C —tan C-tan A — tan A tan B

tanA +tan B+ tan C ~ tan A tan B - tan C
l-tan B-tan C ~tan C -tan A —tan A tan B

D _SHTJERIND O

cos (45° = 4)- cos (45" - B) - sin (45° ~ 4) sin (45" - B)
=sin (4 + B) ewré s Gs.
cos (45° - 4)- cos (45 — B) - sin (45° = 4)- sin (45° - B)
= cos [[45" - 4) +(45° - B)]
= cos [90° - ( A+B]
(

=sin (4 + B)

o _SHuyewnd 7

tan3A-tan2A - tan A=tan 34 - tan2A -tan A eensd 5.m;®a5.
34=24+4

tan 34 = tan (24 + A)
tan2 A + tan A

| —tan24-tan A
tan 34 (1-tan2A - tan A) = tan2 A + tan A

tan3A —tan 3A4- tan2A-tan A = tan 24 + tan A
tan 34 —tan2 A -tanA =tan 34 - tan A - tan A

33



sinC + sinD, cosC + cos D astuaidBheTen

aminuT@&er
A+B =C
A-8=D coa
C+D
24A=C+ D; A=
2
CcC-D
2B=C-D; B='—-’-—2— LG LD.
sin(A+ B) = sin A cos B + cos A sin B S —— (1)
sin (A - B)= sinA cosB ~ coSA SN B ceeeeeeeeann. )

()+ (2); sin(A+ B)+sin(A - B)=2sin A cos B

sin C+ sin D=2sin(C;D)-cos(C; D)

(1) = (2); sin(A+ B)—sin(A— B)=2cosA-sinB
sinC —sinD = 2cos(C;D)-sin (S—E—D)

cos (A + B)=cos A cosB —sin A SiN B cocmmmeumeencnee- (3)

cos (A~ B)=cosA - cosB+ SiNASINB  eeeeeeee (4)

(3)+ (4); cos(A+ B)+cos(4— B)= 2cosA-cosB

)2

cos C- +cosD = 2cos(c *

34

(3) - (4); cos(A+ B)~cos(A~B) =~2sindsinB

cosC—-cos D =— 2sin(C; D)- sin[c ; D)

-C

cosC - cosD = 2sin(C;D)-sin (D

sinC+sinD = 2sin(c A D)- cos(

cos C + cosD =2 cos

0
N+
v
¥._/
S
[
N

cosC—cosD=2sin(C+ D)-sin(D_C)

sinC-sinD=2 cos(c A D)-sin(c — D)

D _FHTJID 8

UeisumenenieuBens HI1I6eys.

sinA + sin 34
) —_—————=tan 2 A
cos A + cos34

. sin7A—sinA_ (44
(i) cosA—cosTA co
G sinA + sin 34
cos A + cos 34
_ 2sin2A-cos A = tan 24
2 cos2A-cos 4
35
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o srysoonpd 11
sin7TA-sin A Ll

(i) cos A ~ cosTA SinA — sin5A4 + sin 94 — sin 134

=cot 4 A G BDieys.

2cosd4 4 - sinéA cos A — cos54A —cos9A4 + cos13 A
= ———————=cot 44
2 sin4.A4- sin3A4 sinA — sin5SA + sin9A - sin 13 4

cos A — cosS5A — cos9A + cos13A4

2_gryemmnd 9 (sin A + sin94) - (sin54 + sin 13 4)

" (cosA — cos 94)~ (cos 54 ~ cos13 A)

cos (A+ B) +sin(A - B) =2 sin (45° + A) cos(45° + B) ! :
(4 + B) + sin (4 - B) oot Bipies 25in5A- cos4A — 2s5in9A - cos 4 A

cos (A + B) + sin (4 - B) " 2sinS5A-sin4A - 2sin94- sin 44
= sin [90 +(4+ B)] +sin(Ad-B) 2 cos 4 A (sinSA — sin 9A4)
"~ 2sin4A4 (sinSA - sin94)
_ 2 sin [90 + 2A]_ cos {900 N 23}
: 2 2 _ cos4d _ cot 44
sin 44

= 2sin (45° + A) cos (45° + B)

o _giysond 12
o _sryeend 10 ‘ ‘
27 4r :
! sinA+sin(A+T)+sin(A+T)=0 6160 @@JIQI&‘
sin A+ sin34 +sinSA + sin74
cos A+ cos 34 +cos54 + cosTA

=tan 44 een Bpeys. . )
2n . 4n
sind + sin (A + —;—) + sin (A + —3—)

sin A + sin3A4 + sin SA + sin T4 °

cos A+ cos3A + cos5A+ cosTA

n

sinA + 2sin (n + A) - cos 3
_sinA +sinT A+ sin3A4 + sin 54
€os A + cosTA + cos 34 + cos5A

1

sind - 2sinA x —2-
_2sind4 A-cos34+2sindA- cos A
2cos4 4 - cos3A+2cosd4 A4 -cos A

sinA —sin A
=0
_2sin4 A4 (cos34 + cos A)
2cos4 4 (cos34 + cos A)

=tan 4 4

36 7



D _guyewnd 13

sin 10° + 5in20° + 5in40° + sin 50° = sin 70° + sin 80°

(sin10° + sin 50°) + (sin 20° + sin40°)
= 2sin 30° cos20° + 2 sin 30° cos 10°
=2 x 1 cos20° + 2x 1 x cos10°

2 2
= c0s20° + cos10°
= cos (9o° - 7o°) + cos (9o° - 80°)

= sin 70° + sin 80°

LD BHHRIBMT Ful 5561 BHTenSHLTHCauT

el HUTFITHCUT 6T (1pHIFH60

sin (A + B) =sin A cos B + cos A sinB

2]
-
3

(
in (A — B) = sin AcosB — cos A sin B

A+ B)=cosA cosB - sinA sinB

Q
S

)
A - B)=cosA cosB + sinA sinB

(i) + (ii), sin (
(i) - (ii) sin (
(iti) + (iv)  cos (

)
(iv) - (iii) cos (A — B) - cos (A + B

38

..............

) + sin (A~ B) =2 sin A cos B
)

A~ B)=2cos 4 sinB

(
+cos (A — B) = 2cos A cos B
( ) =2sin A - sinB

s1e1Be,

2sind cosB = sin(A+ B) +sin(A4 - B)
2cosA sinB = sin (A + B) - sin (4 - B)
2cos A cosB= cos (A4+ B)+cos(4- B)

2sin Asin B= cos (A - B)-cos(A4+ B)

2 _FHryecmnd 14

UeraumeaiaiBenn @ Sl GSOSHTSUTSEEMT Hisdeog eNGHAWTFIOTEEeT
H(Hb.

()] 2sin 50° cos 20° (i)  25in40° cos75°

(i)  2cos 45° cos85° (iv)  25in20° sin 130°

1) 25in50° cos 20° = sin (50° + 20°) + sin(50° - 20°)
= sin 70° + sin 30°

(i) 2sin40° cos 75° = sin (40° + 75°) + sin (4o° - 75°)
=sin 115° + sin (-— 35°)
= 5in 115° - sin 35°

(iiiy 2 cos 45° cos 85° = cos (45° + 85°) + cos (45° - 85°)
= cos 130° + cos (——40°)

= cos130° + cos40°

39



(V)  25in20° 5in130° = cos [20° - 130°] - COS-[2°° ¥ 13°°] ~ =2[cos® 4 cos? B-sin® A sin® B]

pe—-

= cos (—1 10°) - cos (150°) =2 (cos Acos B — sin A sin B) (cos A cos B + sin A sin B)

= cos 110° - cos 150° 2 cos (A + B)- cos (A - B)

=cos2 A+ cos2B

o _gryewnpd 15 o Fryemnd 17

0 9 50
$in75° cosd5° @ S BHOHTDHTE aWH, BHOGHH sinT5° BE SIS, c0520- cos-y — o538 cos == = sin 36 sin =~ aon. Higore.

5in75° cos45° = —1— 25in 75° cos 45° cos20- cosy - ¢0530 - cos &
. 2 2 2
= —]- [sin 120° + sin30°] ‘ = l 2¢0s26 cose/ ~ 2 cos30- cos%
2 ) 08 2 2
25in 75° cos45® = [sin 120° + sin 3o°] ' ¢ 1 ( 50 39) ( 150 39)
= — || cos — + cos — | ~ | cos — + cos—
: 2 2 2 2 2
B e
2 2 2 =—;—|:cos-5-29—cos %]
, o 1 ~/§+ 1 '
2x5in75 x—= = 1 56
«/5 2 = — x 25in50- sin—
‘ 2 2
Jixsin7s°=‘/§+1 , .50
2 = §in50- sin—
: 2
n 75° 3+1
sin =
242

o _gHryewib 18
2 _sryswnd 16
) ' sinA- sin(B - C) + sinB- sin(C — A) + sinC-sin(A- B) =0 e plneys.
2c0s2 A cos® B-2sin® A sin®B = cos2A + cos2B ead s (5.
‘ sin A-sin(B - C) + sinB- 5in(C — 4) + sinC - sin (4 — B)
2cos® A cos® B-2sin® 4 sin® B i
= 5[2 sin A-sin (B - C) + 2sin B- 5in (C - A) +2 sin C- sin (4 - B)] -

40 ‘ 41



—[cos(A B+C)-cos(A+B-C)+cos(B-C+ A)~cos(B+C -4

+cos(C— A+ B)-cos(C + 4 - B)]

o _SHiyswnp 19

-3 (-] 1
c0s20° - cos40° cos60° cos 80 =Tg aen By,
c0520° cos40° cos60° cos80°

c0s20° - cos40° x % x cos 80°

[2 cos 20° cos40° ] - cos 80°

A|.—- -hl»—-

[ cos60° + cos20°) cos80°]

gl
-3k

cos80° + cos 20° cos 80°]

M—-
N | —

cos 80° + 2 cos 20° cos 8o°]

[cos 80° + 2 cos100° + cos60° ]

1 1
- 8 + —
[COS 80 cos 0 5 ] 16

oo[-—-

42

uulhed 2(a)]

UsTaupeaisiaubenny mpieas

I.  sin(A+ B)-sin(A~ B)=cos’ B - cos’ 4

2. (sin 4 + cos A) (sin B + cos B) = sin (4 + B) + cos (4 - B)
3. sin (45° + A) cos (45;’ + B) + cos (45° + A) - sin (45° + B)

= cos (A + B)

sin{A4 - B) . sin (B - C) . sin (C - A)__
cosA-cosB cosB-cos C cosC-cos A

5. cos A- cos(B + A) + sin A - sin (B+ A)=cosB

cot A- cot B ~ 1 _

t(A+ B) =
6. €0 ( ) cot A+ cotB

7. () sin105° + cos 105° = cos 45° (i) cos15° — sin'15° = cos 45°

8. cos (60° - 9) cos (30° + 9) — sin (60° - 6) - sin (30 + 0) =
9, sin(n—1)A4 - sin(n+ 1) 4 + cos (n—1)A-cos (n+1) 4=cos24
10. sin(n—2)A-cos-nA—cos(n—Z)A-sinnA = - 5in 24

. A+ B=45° ealer, (1+tan A)(1+tan B)=2 aeis &1 G

N —

i2. sin(x+y)‘=%,sin(x—y);=

1

13.  cos (4~ B)=3cos (A+ B) eafen tand-tan B = — geg mi (s,

2
14. cotB-cotA=a, tand-tanB =a eehar,

1 1
cot (A - B) = = + 3 oIS BT (Bb.

43
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15. cos (A+ B)- cos (A - B) = cos* A —sin* B- aen Bimeys. 6 Sin A + sin34 =tan2 4
‘ * cos A + cos3A

16. tan A =

,tan B = slefad, fon (4 + B) ®& Sl

m+ 1 n+1 7. c0s70° — cos10° + cos50° =0 8. 5inS0° - 5in70° + sin 10° =0

5 1 9 5in20° + sind0° - sin80° =0
17. tand= 5 an B= 7] e, tan (4+ B)=1 aad & Gs.

3 10. cos A+ cos (2% + A) + cos (_2; _ A): 0
18. twn (% + G)- tan (—43 + 9) =-1 e Bigieys.
I 5in10° + 5in20° + 5ind0° + sin50° = sin 70° + sin80°
19.  cot (% + 6)- cot (% - e) =1 aa ges. 12, Sin3A-sind _ cot 2
/ cos A — cos3A

) A
20. 1+tanA-tan—1-4-=tanA-cot——1=secA aen Bmeys.
2 2 . . 2n . 4n
), sinA+sin|A+—|+sin|A+—]=0
1 1 3 3
21. tanA=5,tanB=—_--5aasﬂah, tan (A + B) & srews.

14. (a) cos10° = cos50° + cos70° (b) sin10° = sin 70° — sin50°
Gugud tan C =1 eafer, cot (A+ B +C) g5 arews.

8. cos(A+B)=§-,cos(A—B)=% sied,

L2
cos A-cos B, tanA tan B, tan (A - B) esiueuienns snaiis.
derQipalapamp Bpieis . 16.  sin2A- sindA + sin6A = sind 4 (2cos24 -1
j j A+ B A-B ~
1 M = tan ( * ) cot (——-—) sin 5A — sin3A
: sinA- sin B 2 2 17, —_— = tan A

cos3A + cos5A

2. M = tan (A ; B) sinA + 2sin3A4 + sin5A _sin34
: cos A + cos 18. sin3A + 25in5A + sin74  sin5A4
- B
cos A+ cosB _ o[ AXB) o [AZE sin(A+ B) - 2sind + sin(4A- B
3. cos B - cos A 2 2 : 19 =tan A
*  cos(A+ B)-2cos A+ cos (4 - B)
sin4 — sinB A+ B
4. o B —cosd_* sin(A-C)+2sinA+sin(4+C) sinA
20. sin{B - C) +2sinB + sin(B+C) sinB
5 Sn2A+sin2B o (4+ B) cot(4- B)
. sin2A - sin2B ‘ 21, cos3A4 + cos54 + cosTA + cos154 =4cosdA - cosSA - cos6A
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22.

23.

24.

25.

26.

cos(A+B+C)+cos(4+B-C)

+cos(B+C~ A)+cos(C+ A—B) =4cosd-cosB-cosC
_ A 34 .

sinA + sin2A + sind A + sin5A = 4COS3- . COS~2— - sin34

cos34A —cos A  cos2A - cos4A sin A

sindd — sin2A  cos2A - cos34

sin3A4 — sin A

tan50 + tan36

———— = 40520 : cos46
tan30 — tan30

cos30 + 2cos50 + cos70
cos8 + 2cos30 + cos50

=¢c0s20 —- sin2 0 - tan30

2®)

Usiapasiaidenn o gl GSNBTansUTHEMT 0PI

alSHUTFLTHCAUT HHB.

@) 25in30 - cosO (ii)
(iii) 2 cos60 - cos80 (iv)

2 sin0 - cos 30
2 sin30 - sin50

isiaumeusieauneny Bpleydh

sind - sin (A + 2B) - sinB - sin (B +24) =sin(A - B)-sin(4 + B)

cos (36° - A) + cos (36° + A) X coS (54" + A) = cos (54° - A)

cos 4 - sin (B = C) + cos B - sin (C — A) +cosC-sin(A—Bj=0

sin 20° sin 40° sin 60° sin 80° = —1%
o o o o 3
cos 10° cos 307 cos 50° cos 70" = E
o ) o o 1 :
cos 20° cos 40° cos 60° cos 80" = —l—g
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in2A, cos2A, tan A edusuBienan A @60 ST »

sin2A = sin (4 + A)
=sinA cos A + cos A sin A
=2sinA cos A

Sin2A = 2_;mA cos;i
cos® A+ sin® A
&vin Acos A
cos® A _ _2tand
cos® A + sin* 4 1+ tan® 4

cos* A
cos2A4 = cos (A + A)
=coSA-cosA-sinA-sind

P— (3)-

= cos® A — sin® A

(3) @ sin*A=1-cos’ 4 amu\tjlugﬂum_
gos2A =cos®> A - (1 - cos’ A)
=2cos* 4 -1
B) @ cos? A4 =1-sin® 4 e MyguiL
cos* 24 = (l ~ sin® A) — sin® 4
=1-2sin* 4

cos2 A - sin2 A

(3) @9@pal, cos24 = 1

_ cos® A ~ sin® A

cos’ A + sin2 A
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=2sind ~2sin® A+ sind -2 sin° 4

: cos2 A- sin2 A
= 3sind — 4sin> A

= cos* 4
cos® 4 + sin® A
cos® 4
[ sin34 =3 sind - 4sin’® A4
1~ tan* 4
cos3A = cos (24 + A)

afd O
=cos2A-cos A ~ sin2 A-sinA

tan2 A = tan (A + A)
= (2«':os2 A- 1) cos A —~2sinAd cosA- sin A

tanA + tan A '_ 2tan A

1—tand-tand  {-taitq = ~— M

an =(2cos2A—1) cos A —2cosA(l—cos2 A)
=2cos’ A-cosA—2cosA+2cos’ A

sin2A =2sind cos A :
__2tand =4cos’ A - 3cos A
1+ tan* 4
cos3A =14 cos’ —3cosA

cos2A = cos® A - sin* A

=2cos* A -1 .y
tan 34 = 2

cos3A

=1-2sin* 4
_ 3sind-4sin’ A

1= tan* A
1+ tan* 4 . 4cos’ A-3cos A

sin A (3 - 4sin® A)

tan2A4 = _2_ta_n_zi_
1- tan® A = 2
cos A (4cos A- 3)

[3cos2 A+ 3sin® A — 4 sin® A]
=tan A - 5 5 5
[4cos A -3cos” A - 3sin A]

sin 34 = sin (24 + A)
=s5in2AcosA+cos2A-sinA
[3cos2 A - sin? A]

=2sin AcosA-cos A + (1 - 2sin® A)-sinA
=tanA >
2 .2
[cos A - 3sin A]

=2sinA (l - sin? A) + (1 ~ 2sin® A)sinA
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3cos2 A - sin2 A

=tan A cos” 4
cos® A — 3sin’ A
cos* A
(3 - tan’ A)
= tan A

1-3tan’ 4
_ 3tan A — tan® A
1-3tan® 4
Olsvs0 g1
tan 34 = tan (24 + A)

_ tan2 A + tan A
1-tan2A4-tan A

2tan A
an + tan A

_ 1 - tan* 4

I__gﬂA—.tanA

1-tan* 4

2tanA + tan A (] - tan® A)

1-tan’® A

1-tan® 4 - 2tan* 4

1—tan* 4

_ 3tanA —tan® 4
1-3tan* 4

3tand ~ tan’ 4

tan3Ad = >
1-3tan” 4
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sind = sin (47 + 4/)
=sin 4/ - cos 4 + cos 4 - sin‘%
2 sin 47 - cos 4/ )
_ 2sin 4/ cos 4/
1

2 sin % - cos %
cos? % + sin? %

A
CHTGP, UGS eRILIUBDB Coszg QO UGBS,

sin 4

sin A

- 2tan i:—
sinA =
1 + tan* ﬁ @
2
cos 4 = cos- (—4— + ﬁ)
2 2

A 4 A
= cOS— - €OS — — Sin — - sin —
2 2 2 2

cos? % - sin? % 3)

sin? % = 1 - cos* % aent L9y Hudz,

2
cos A = 2cos %—1 4

.2 A
cos? % =1- sin’ Py sienl) 1Ay glut

cos A =1~ 2sin?

A
3 ©
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o _Fuyemid 2

cos2 g—sinzi;-
COs A= . ,
coszﬁ +sin2-4— sinA + sin2 A —tan A 6 SILES.
2 2 1+cosAd+cos2A
4 y sin A+sin2A
cos? = - sinz—-z- 1+ cosA +cos2A
_ cosz% _ sinA+2sinAcosA
= = 2
cos —+sinz—5'4— l+cosA+2cos" A-1
cos? _ sinA +2sin Acos A
2 cos A + 2cos* A
l—tan2% =sinA (1 + 2 cos A) — tan A
= cosA(l1+2cos A
l+tan2% O ( )
| (,4 ,4) | 2 gryswond 3
tanA=tan| — + —
2 2 |
t=tan—x gefev, 7-5cosx m ! B s,
21ani 5-7Tcosx
-2 2
2 A4 ‘ -t .
1 - tan > cosx = UG
o sryesnd 1 : 7 s 1-12
1 24 , 7-5cosx _ 1+¢2
~C 07 _an’ A ewé sTEs. 5-7cosx 1-¢2
1+cos2A 5-17 3
1+¢
1-cos24 1-(1-2sin’ 4)
= 2\ _ _ 2
1+ cos24 1+(2cos2A-l) ___7(1'“) 5(1 t)
5(1+12)—7(l —12)
2sin* A 3
—2cos2A=mnA =2+12t2 ~6t2+1

1222 -2 612-1
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2_pyenid 4 D _FHTJeIOND 5

. o _ o © . i 1
sin80° = sin (60 +20) 6180 SI(HISUSBEN  APsOLD P— cosece+cot9=cot56

5in80° = 5in40° + sin20° eems &1 G BHOGHS, 1 056
cosecO + cot 0 = — -
4¢0520° cos40° = 2c0s20° + 1 6160 &T.(B& sin®  sin®
BF0mbas C = cos20° eafia, ‘ _ 1+ cos®
sin®

8C3 _6C-1=0 & 2 _WHHHS. :
2 cos® %

2sin% . cos%

5in80° = sin (60° + 20°)

cos
= 5in60° cos20° + cos60° sin20° =—3 2 = COI%
sin /

sin80° = 5in60° cos20° + % sin20°
D _HTJesID 6
2 5in80° = 25in60° cos20° + sin20°

|
= 5in80° + sind0° + sin20° sina - sin (60° - a) - sin (60° + a) =7 sin 30 aens &M_([Hs.
sin80° = sind0° + s5in20° () sina. - sin (60° — a) sin (60° + )
25in40° cos40° = 5ind0° + 5in20° 1

= [2 sin o - sin (600 - cx)  sin (600 * a)]

2 % 25in20° cos20° cos40° = 25in20° cos20° + sin20° (sin20° # 0) X 2 |
, - .
4¢c0520° cos40° = 2c0s20° + 1 ) =3 sina - [cos2a - cos120 ]
C = cos20°

| 1
= E sina - | cos2a + 5
4 c0s20° cos40° = 2¢0s20° + 1

 4cos20° (2cos2 20° - l) =2c0520° + 1 =—sina [200520‘ + 1]

[2 cos2a - sina + sina]

4C(2C2—1)=2C+l ' -
3 _ *
8" -6C-1=0 = —1- [sin3a — sina + sina] = —!- sin3a
. 4
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D _Sryesud 7

cosec A~ 2cot2A -cosA=2sinA

cosecA - 2cot2A - cos A

1 -. cos2 A
sinA sin2A

1 " 2cos2A

= sinA  2sinA cos A .

_1-cos24
sinA

1—(1—2sin2 A)

sinA
2sin’ A
sinA4
=2sinA

=

uulpd 3

Ushaipaistapenn Bpias

sin2 4 sin2 A

1. —————=1lan4 2, ————=cot A

1+ cos2A 1-cos2A4

sin50  cos560 2

- =8cos“ 0 -4
3. sin® cos9
4. (cosx + sinx)‘ =14 2sin2x + sin® 2x
5 ﬂgﬁ{ - tanz 2x 6 1 + = tan2x
* 1 + cosdx . l~tanx . 1+ tanx

] sin3A _ cos3A =2 o 8. sin3A + cos3A = 4cos2A

sinA cos A sinA cos

56

1L
12.

13.

14.

16.
17.

18.

19,

20.

22.

23,

| —cos2A + sin2 4 _
1+ cos2A + sin2 A

1+ tan 2

1+ 5in6 + tan 2
— = 9= secO + tan®

[-sin® | _ tan >

1+ 2cos4x + cos8x = 4cosdx - cos® 2x

tan A

V+cos2A4 + sin24 = 2cos A (cos A + sin A)
sin (. - B) + 2sina + sin (o + B) = 4sina - cos’ g—

sin3x + sinx = 4sinx cos® x  15. sindx = 4sinx cosx cos2x

sin8x = 8sinx cosx - cos2x - cosdx

Ui @eiGannm cusnaulignd cos2a @ QUEILTEISHMS HTeHS.

(i) sina = —i, cosoL = —i, tana = i
5 17 12

tan® = sieflelt, acos20 + bsin20 @Ben CupTMGMHSS HeNbS.

Qo

. |

(i) sinx = 3 acfell, sin3x s HTeME.
1

(i) tanx=5 aefllelr, tan 4x mé TR,

sin3A4 + sin® 4

sin34 - cos3A4
cos® A - cos34

sind + cos A

=cotAd 21. =2sin2A4 -1

5~ 13si ‘
X mt @60 BTes

|
= tan—z—x creflen,
tan—x -5
2

cosx +sinx=a
cos 2x = baeleh, x @& sy
a,b @hden Gu GpTLTGUTEIIeL QuUES.
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cos® =a, sin20=2b aeflar, 0 gF FTINE sin (A4 + 3B) + sin (34 + B)
a,b @udeL G GsTUICUTE M GUDI®. 45. sin2A + sin2B

=2cos (A + B)

cos 30 + 3¢cos0 = 4a » 1 B 4
. Cos=-— ,simp=— b. Caremmimse YA eend GoTe
35in0 —~ 5in30 = 4b aefler, O mF FTIiH 61 5 26 = ®

a,b @bdeoCw GHILICuTaEMmea: GuLIS. LBl CUUILTEIRISMENS HT6RIS.

tan A + cot A = 2cosec A i 27. cosec2A +cot2A =cot A HeicuBasmabon Hoias.
1+ sind - cos A A (4 y 2, 2 2(A+B
= tan — v COLA = — | cot — — tan — i cos A + cosB)” + {sin A — sin B)” =4 cos
1+ sinAd+cosA 2 29 v @ 2( 2 a 2) 47 ( ) ( ) ( 2 )
A 2 4 g ) —
cos4d =1-8cos” A +8cos” 41" 48. (cosA+ cosB)2 +(sin A + sinB)2 = 4 cos? (A 5 BJ

sindA=4sinA cos’ A — 4cos A sin® A.

’ 2 . . 2 .2(A-B
49, cosA —cosB)" +(sin A — sin B)" =4 sin [ )
cos64 = 32cos® A - 48cos* 4 +18cos® 4 - 1 ( ) ( )

coso. - ¢os (60° - a) . cos(60° + a) = :‘1— cos 3o 50. sec (—} + 6) - sec (g— - 6) = 2 sec 20

coto + cot (60° + a) — cot (60° - a) = 3cot 3o 4 15 sind .
51 tan(45°+—) = |—————=sec A+tan A
o : 2 1~ sin A

.2, :
sin®> A - sin®> B

: =1an (A4 + B)
sinA cos A — sinBcos B 2 (n A) 2 (n A) I .
52, sin|—+—|-sin"|——-——|=-—sind
8 2 8 2 J2

1 - cos A + cos B — cos (A + B) A

: =tan—-cot — - 2 2 3
1+ cos A - cos B — cos (A + B) 2,02 53 cos’0 + cos® (9+—3—)+COS2 (6——3—) - 2
cosA n- A sec84 -1 8.4 24
Toond tan ! . tan 84 - cot 54.  cos24 +cos2B + sin® (A4 - B) - sin® (4 + B)

4 (cos6 0 — sin® 9) = cos> 20 + 3c0s20 = cos (2 A4+ 2B)

. tan 4 A+ tan 2 —tan’ 34 -tan* A) = Cean?
secZA(1+se02A)=2se02A 41. cosecA —2cot2 A4 -cos A = 2sin 4 55.  (tandd+an24) (1 tan” 34 - tan A) 21an 34 - sec” A

A4 34 1 A A A A
sin3A + sin24 — sind = 4-sin4 - cos— - cos — 56. + tan~2— - sec ? 1 +tan ? + sec —
{ 2 2 2

2 (cos“B + sin* 6) =1+ cos’ 20 ' - = sin A - sec* 124;
T .ﬂ;f.}g‘{ b A

sin(2n+1) A - sinA = sin’> (n+1)4 - sin* (n~ 1) 4
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4. 5’@(3&%561 &HWTHF FLOGITLIT(HIHT

sin® =0 @en gy,
6=0, &, 2r, 3n,4n,5%,.........
—n,-2m, = 3®, ~4n, =57, 51
QuUTBISSTTe: : %/
0 =nn, (neZ) sueb.

1
5in @ = > 1601

5
9=£,§£, 21t+£, 2Tt+——-—,41t+lt-,4‘rt+-—n- .........
6 6 6 6
5n n T N
= = _ —- &5 ,
6 6 TP
%, b E, 21+ —E, 31:+£, 4 +-1—t-, SH——,nn.
n .
0 =nn+(-1) % ;n=0,1,234,.... 616 E1(DSEVTID.

Beueu@m, CaTamid EUEOEHFHIIWTS DisTIHSILIGE,

9=—(n+%], —21t+zt6—, —(3ﬂ+%),—4n+—2—, .........

0=nn+(- 1)"- n=-1-2-3...... oTe  S1UPSHEVMID.

r

6
. 1 o

15086, sm9=5 @& QuIgIHBTeY

=nn+(-1)" % Q4G D.

i@ n PenpOwedl GO

sin@ = - 5 SIS,

0= —%, n +%, 21t—7“6,31t +'% .........

0 =nn +(—'l)"'(_—%) N n= 0, -l,—2,-3 ......... aL@u)

60

WLGHFIWTE SeTESUILGL Curgd BF QUTGHHICUMSHS STEEOTLD.

=nm+ (- l)"-(—%); neZ

sin@ =sina - erafia ;

8=nn+(-1)"a ew neZ

cos0 = 0 eeis.

6=£,3—n—,21t+“2,21t+§1,47t+71 VTS
2’ 2 2 2 2

3n n
5 = 2n — 5 o SUDEIIFT60,

e=£,21t——,21t+£,47t—-
2 2 2

CanammiEaneT QUEVEHFIHIWTE SITULISET epeoiptd,
cos 0 =0 eafer,

6=2nnt % nezZ aen QBT

cos0 = 5 160D,

n n i
0=—,2n~—, 200 +—, 40 -1, ........
307173 300" %

Slsvevgpl

-7 ’_27-(.,._7‘_,_‘21:_-11,—41:-1_“ ,-—47:—-—7-[— ...........
A 3 3 3 3

616U 6T HEVLD

20=2nm T s neZ auew.

1
COs = ~ — gqai%.
2

2n 2n 2n _2_1t

,27“"—'—',27t+——’47'[_

9=~ R b.
3 3 3 3 BGW
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Coo2m 2 sryewnd 1 ‘
0 =2nnt —3—' L.
% 1Tsficupd FwaLTHoEemen CLITHIGSSHTENoUS ST,

cos® =cosa - erafedr

0=2nmt o o neZ{w 2

(@) cos“x+3cosx+2=0

tan 0 = 0 e,
0=0,%n,2m, 3n......... -
-n,-27, - 31r
o8 0=nm, neZ Ko (@)  cos*x +3cosx +2=0

(b) tan® § - (1 + ﬁ) tand + 3 =0 () sin 99 = sin@

(cosx+2) (cosx +1) =0

o cosx+2=0 Sl6V60FI cosx+1=0

tand =1 eeis. y
)4 cosx =—2 cosx =—1
0="T,1+%,2n+", 31+ ,4n+ 7 , ’ -
A A A 4 A —l1<cosx <1 eq@umne COS X = Cos
=em Y, =2m 4+ T, =3+ W cosx =2  OQUIGHSTS! x=2nntn,ne’Z

c1enGe Gznn—%;nel SESLD.

(b) tan29—(l+\/§)tan9+\/§=0
tand = -1 e, ) (tarie—l) (tane—ﬁ)zo
.1
621:—:,27:—7‘4,3n—7y,4n—% ......... )—7{1 an®-1=0 swes tanh—3=0
tanf =1 tanez\/g
=—n+“4,—n—%, 27+ 4,—-311:+/, ..........
T
AEEDR 9:"1‘[—%,‘ neZ SUGIb. ’ ; taneztan% tan9=tan—3—
| O=nn+=,neZ; O=mun+- '
tan® = tana. eeleir, —n7t+z,ne ; —mn+—§-,meZ

O=nn+0a H&L. neZ

(¢) sin98 =s5inO
§in96 —sin® =0
2c0s56-5ind40 =0
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c0s50 =0 NG sind0=0

cos 56=cos§ sind0 =sin0O

40 =mn

59=2n1ti"2,' neZ,; 9=%;MEZ
1
9=§[2nni%];nez

o _SHTyemmnd 2
Hds
(@) cosx+cos2x +cos3x=0

(b) cosx-cos3x-1=0 (c) cos 5x ~cosd x +cos x =1

(@) cosx + cos2x +cos3x = O
(cosx + cos 3x) + cos 2x = O
2¢os2x -cosx +cos2x =0

cos 2x (2cosx +1)= O

1
cos2x =0 SIOEVBH cosx = -3

2%

n
cos2x = cos; Cosx = cos ——3—

2n
x=2n7tir—3—,neZ .

(b) cosx-cos3x-1=0
cosx (4cos3x -—3cosx)—l=0
4cos*x -3cos’x-1=0
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4cos“x+1){cos“x-1)=0
2 2

4 cos® x+1 20, coszx-—l=0
cosx =11

cosx =1 cos x = —1
cosx = cosO COSX = COST

x=2nn,neZ x=2nntn, neZ

C Y

X=mn, meZ

(¢) cos5x - cos 4x + cosx = 1

€os 5x + cosx —cos 4x =1
2 cos 3x - cos2x — (2 cos® 2x - l) =1

2cos 3x - cos2x - 2 cos?2x = O
cos2x [cos 3x - cos 2x] =0

cos 2x = O oveog cos3x — cos 2x = O
n

cos 2x = cos—2— cos 3x = cos2x
3x=2nn +2x
i3
2x=2n7ti§ 3x=2nmw +2x eiefen,

x=2nn,neZ

3x =2nn - 2x eaeflen

Sx=2nn

2nn

chel
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2 _gHryewnd 3

cos20 =s5in (90 — 26) e aa@euFH apeowd  sin 30 —cos20 =0 @
O_°,@!i3©lb 360° @b @ ulgusien Siasamen 6aepHs.

siritv 30 - cos20 @ s5inh @O _WIHEHIUSH Apeod 4x>— 2x2 —3x +1=0
160G FWEILTL el apeomidsit 1, sin 18°, — sin 54° eané énLG&- BFHemba
sin 18°, — sin 54° esUADENB ApsURIGEETTE OSTeRi.  SHLIQFFIDTUTL QN6
WPpQEIsHl GEMEHIBHEHL & QLIS

@djsxﬂ@utge‘f FWALT Pevand STUUSGa cpsod sin 18" el Cuprorenhamss

BT Wb,

sin 30 — cos26 =0
sin 36 = cos20
sin 30 = sin (90 - 26)

30 = n x 180° + (- 1)"- (90 - 20)

n = 0 eaen, 36 = 90 - 20

59=90°, 8=18" ey
n =1 erefleir, 30 = 180° - (90 -26)

8 = 90° @
n =2 eistlei, 36 = 360° + (90 - 26)

56 =450°,0 =90°

n=3 sefex, 36 = 540° — (90 - 26)
6 = 450° |

n =4 eefle, 36 = 720° + (90 - 26)
50 = 810°

0=162° 3)
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n=6esfar 36 = 1080° + (90 ~ 26)

0= % =234° —— '3\

n=8aafar 30 = 1440 + (90 — 26)

56 =1530°

1530

0 =306° = e (5)

Sieyssit {18°, 90°, 162°, 234°, 306"} | (0° <0< 360°)

sin 30 — cos 26
=3s5in@-4sin°0 ~ (1 - 2sin® e)
= — 45in 042 sin® 0+ 3¢n0 - 1

5in36 — cos20 = O eaflen ,
~45in®0 +2sin*0 + 3s5in0 —=1=0
45in°0 -2 5in*0-3sin0+1=0
x =s5inb aais
4x3 ~2x* - 3x +1=0
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0, tan™ (—) 0, = tan™ (— 0, = tan' [2 ‘
3 2 7)) 9 tan 5 cos'x +cosV y+ cos”lz=n eafen,

T T 2 2 2 y = .
-5<91,92,93<5 —, x?+ P+ +2xyz =1 oo ppes
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4, 5in30 = sinda eefler, Bgg o @ed B06. -Sin0 @a1 Buse (i) cosd +3sinB=2 @b sussiewd gL @m GryTen

OUDIOTEMLISEST  SBIT6H 5. FTRGHETERGEMEGW. ¥ = sinA + 3OS B gqeflsn, r @1 10s0

. n
Guilw Gugrotemd 243 aeTayD, A=23=§ sIeeYd  [BlIeys.

S. Curgis Sremaus HTews.
~ (cos® + s5inB) (1 - 25in20) =2 (cos 30 - s5in30) R
2t 1-1
. = 2 - " . |
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tanl—lz'ﬂ;ﬁ—\/g aMbST BB O asilg 0 @Ben v
Bpeiomulsd Bouds 6 B auCuITESHDE

tan = 2 + \/5 UG
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21.

22.

23. grss. (i)

24, giss (i)

25,

(i) cosx +cosy =1
secx + secy =4 @b QUHBIGMLD Foaiunfsellelr FieyHensn
0° <x<180°, 0<y<180° @0 srawia.

(i) £ss (a) cos2x - sin2x =1

(b) cos2x - sin2x = V2 cosdx

(i) cos5x=cos @et Freweu -180°.< x < 180° @ev srEHIS.
(ii) 4s5inB =secO Pan GuUIEIH Fremey W5,
(iii) sin® + 5in20 + 5in30 + 5ind0 = 0 aaflel, § yeug g—@aﬁ

27

WLRIG BIE060FH ? @6 LG 6 Bipns.

2sin2x = tanx
(i) 10sin"> +24 cos™% =13
3 3
(iii) 2cosO - cos20 + s5in20 =2 (3 cos>§ - cose) Bet
Fravew 0<B8 <21 @od sms.
25in0 = 3 tand
(i) 3cos?6+5sin6 - 1=0; 0° <0 <360°
(iii) cos2x +sinx=0 ,; 0<0<360°

(iv)  sinx - sin2x + sin3x =0 ; 0° <0 <360°

n . n
a x=2sin{nt +—| o_w, y=4sm(nt+_. ;
@) (m+2) ) oot
SyuLIges X, Y eieiucubensn Sinnt, cosnt aeueipiien
2 gyGesisd sremis. ¢ wignd Gurg (x, ) B @upsde

gosiu el (x, y B6d) srens.

9%

26.

27.

28.

29.

(b) A =36° aafletr, sin3Ad = sin2A eand ST [Hd.

w[§+]
4

cos36° = s 2 WSS,

n
 A4+B= Y tan 4 = aiefan, tanB, tan (4 — B) -

n+1

SIGAILIGUBENDS ST 651,
(a) sindx =cosx @er FHieneu 0° < x < 180° Bed HTEHSH.

(b) 2sin2x + cos 2x =k easfei,

2y - dtanx ~ 1+ k=0 eeasd ST HoS.

(1+ k) tan
tanxy, tanx, elenuen @FFWHTUTLIQE APEUBIBET 66,
tan (x; + x3) = 2 aamssMnGs.

1 - 2tanx ~ tan® x . .
siend &ML (5.

T

(¢) 2x+y=— aefer, tany =
4

1+ 2tanx — tan® x

.oom
2+2t-1=0 @6t 9B e 1 tang- STENOYD, DIBHET

Guo e \/5 -1 ey 2 WISHHS.

- - 1 X+
tanlx+tan'y=tan'»———l

I-xy

slenl Blmeys. S pigLiensa

. - - - T .
o LCWTEESE fan ' x +tan”ly + tan” 2 =3 steafledt,

xy+yz+zx=1 aams &N G5

-1 | . . .
tan =Ssin x eeflelt, X gb SIS,

W | -

1
— —tan
2

St tan”) I-x = 1 tan”! x
1+ x 2
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30.
31.

32.

33.
. 34,
35.
36.

37.
38..
39.
- 40,
41.

42.

43.

44,

Uataipd swaiunGeenas Hises

$in 20 - cos20 — 5ind + cos6 = O

sin (30 + a) + sin (36 - a) + sin (o0 - 0) —sin (a+0)= cos.a
cos (30 + a) - cos (36 - &) + cos (56 + o) cos (56 - &) = cos2a
cosn® = cos (n - 2)0 + sin®’

sin® n@ — sin’ (n-1)0 = sin® @

(2+J§) cos® =1-s5in0

4c0t20 = cot’ 9 ~ tan® 0

3tan (9 - _n_) = tan (9 + —n——)
12 12

tan © + tan20 + tan3 0= O

tan® + tan20 + \/Stane - tan20 = \/§

sin(A—B):-%—, cos(A+Bl=%
cos (24 + 3B) = 51 cos (34 +2B) =

Nl&'

tan (mcot 8) = cot (ntan®)

sin (mcos®) = cos (nsin®) eefe,

cos (9 + E) -
2 , \/5 G T
sin (ncot 0) = cos (ntanB) aefen, n eLE Q@ BeopOwiesismTa
. 1
BGés cosec20 owpveg cot20 sy, "+Z BBeF F0b e

ST Hs.
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[4c

Gurgs Simalds &Tewsm.

(i) cosx + cosTx = cosdx

(ii) «/gsinx - Ccosx = w/E
(ili) 61an20 — 3tan® — Scotf =0

- - T
1) sin1x+sm1y=; eiafle0,

2 2_3
X" +xy+y —Z slen HIDIGYS.

(i) tan"(x+1) + tan'l(x-l)=mn1(2) ™y Bras,

(iii) a ssiug @f gmewwTsnd O SHLFY B EeNLWTE
FafimIGasmemronuiigm e,

f(x) = cos® x = 2sinx cosx — sin* x, O<x <2n
siafied, f(x) g9 acos(2r +6) @b augellsd aGHEHDTHS.
@gsd0pe. () f(x)=0 as

(i) f(x)=1 wsx Qar Sinsomms e,

()  cosnB=2cos0 - cos(n-1)0 ~ cos (n-2)0 aens &1 @Gs.
BFOBEE cos4d e, cosO elsd aGsHDrES.

(i) cotacotB=k eefev,
(k+1) cos(a+B) = (k-1) cos(e~B) eonss an Ge.

n 1 X
B BHE ;'otecot (9—3) = T3 agud swsiTL oL

S .

() o esiug 2n Qe @m WLHBHD aarayb,

B 1-cosx .
tang:-—sin“a-_ s> Cs1eB fanfB = tana eend SIEGS.
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@g&]s&@,rjr,@ tan™'(x) = 2tan”! (cos e¢ tan™ x - tan cot™ .x) o6

Foieys.
(i) 7sin® +cos® =5 aigud FweLT oL

(@) Rsin(0+a) aon aaoups apood R, o DHDDBET
(b) t= tan% aret yalulbeuse les\)Lb S,

5.(a) gisas.
() 3cosx - sinx =2
(i) cosx+\Bsinx=2

(ili)  cos7x ~ w/§ cos3x + cosx =0

1 1 2Y
0, =an (=] 0, =1 _1(_)'6 = —l(_)
(b) Y, =tan (3) 2 = tan 7 )% an ,

3n
aaﬁls&r, 0 <91 + 92 + 63 < '4— 61601 ﬂmls)‘ﬁ )

n
8P 0mba 6, +0,+6; = 7 s &G,

. P 1 (1 -1 1 _n

6. (l) tan E + tan 7 = Z‘ oT60T Lf,]mjala |
(ii) sin0 + 5in30 = sin20 SR FGUTL 6N QUIFIS Sienend
BT,
s q = sin~] [ 1 ) N ] 2 -
(iii) Jio sTeiled, 3'sm26 + 25in“0 =2 eehigb

FLTLIge fov Sieymst o @& sriben eleeyb, Geugy Hev
Pioysst o eeud FTITHeY sleieyld &L (Bs.

T @ 2cosx =J§ cotx 6D FOHUTLYE CLITEIS Hiemeud STEHS.

o SUE Qm EniimiCaremmonullpebas 4cosx - 3sinx edUMS

acos (x+a) SIEID aIgeuSH AbSBIMTES. BHedHHOHT
-Di60s0@ Gouml penmuITGooT
98

(@) 4cosx —3sinx =3 g swsuT oL Sids O BBSL
2n OBoWm B BHEG 6e0aTS SHTasenenud SHS.

1
dsinx — 3cosx + 6
HsdE GombH QUUILTEIHMSUD TS,

1 B
coso. = \/%: &0, Sino = \/; BmeEs

J6 cos(x—o) — tanx = 2 asgip sosLoLS HolSUTSEEGD
x @e1 QuuoTeEismen O @BEL 2n @BEGWenLulsd sSTewis.

f@IUGH 105 2. Wb OCUIDTEISHMSU|D

(b)

0,21 @ndenLulqisien x BT GUDITRIHIEEDHE «/gcos(x—a),

\/5 + tanx eeuamReal siengusemst @b aufiluL SFHed LGLUQWTS
QUDY B.

AP mbH tanx - 6cos(x—a)+'«/5>0 o5 @mEED X @sm

Qugnorenr guilenL semet O GedGhay 27 susnyuleorer o Hulaiei

BT 6001 5.

() tan(A-2B) = cot(24-B) 2 1
tan(A+2B) = cot(2A+B) 2 b esflen,

A, B fdu @yemi(po % SLETUNledt 1oL BIG ST EILIMBLD A L6

@ gbens wLmETuldr B geaig @f Sl WLRISTGW SSLmGWD
ETLBE.

(i) u,v eciiuem 12cosx + Ssinx = 1 qchigid FwAHUTL RS B

Sreysenm@. u,v fwer 2n Qeogwells ELoL_BISaTed

24 ) )
GauguL.TOeusilel COSU + COSV = I@ 6ivd STL(BS.
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10.

11.

12,

() secO+tan® = u aefen sing FCrewr®m_ CupoTesamsGWw
OBTemIYhBGODMEST 19 G CuEITE GBS SIS,

" 3
(]]) COSX+cosy + cos z = —2",

lanx =tany = tanz eqefen,

XLz eeuapibe O @bew 2t @bevoLulers @em®
Osren_ti GQumoTeEiGsiT Boluy FTEHAWGaS &Llg, QUTHIg
Sieouds &TewaE

2.2 ,2 . . , o

¢ <a” +b” e, acos®@+bsin® =c eigup FOSUTLOL S Hibs.

0,.0, qqiuen O @i 21 @bEeL ulsore Brewi® Sieyssit erefien,

61 +92
tan( > ): cos(6,-6;) STRTLICUBENDS M ewis.

() 0 @& Qugoremnd SHINTSE HHSTEILD ‘COS¢= -% leofleir

cos6+ cos(0+¢ ) + cos (8 +20) @6t Qugnotemd LFAD e
:HMGE: S .

(ii) corB - (7 + 4\/5) cot(9+oc) =0 oefer,

V3 sin(20 + o) = 2sina. oG0S &1.65 9 Bbe gnsis
Qupssmgwery  sina @& sfFesd S&ALIGs. RFHeSmHa

cot® —(7+4J§) coz(e+13‘-J=o 85 HoLHUTEGD 0 Qe

QupoTeTIBmMENS STewH .
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5. pdHBHrsustuisest LIdbBHIBHEBID,
G HT6I0THIBEHID
wrpth @6 watsrerl ABC @ Gatamd 4 Wb edgrer ussw BC g

a Wentgo, Caremn B ulBg erdymen uasd CA uengl b ulsnmgid, Goreamid
Cupe sdimen ussd AB geg ¢ ullemad GBsSUUGLD.

1. wrsTufeud @m PhCsrent 4BC &

a b ¢ ,
sind sinB  sinC 38

(i) 44BC @sv AD, BC Wns
QFfESSTE  UeTWLILIL (B6Teng).

\

AD = ABsinB
AD = ACsinC B

Opp----

AB sinB = ACsinC

¢ sinB=bsinC

Bousswd sinB sinC gyed INss,
c b \

sinC  sinB

Bl AC uibe Qerigsste BE & siajauget apsold

a c

sind sinC

6160 [BDISUEVTLD.

(ii) Csmemo B Qmm(‘s&,rrammrr&, Ao Gurgl,
AB = AC sinC
c=bsinC

C sinE = b sinC
2

csinB=bsinC
e ¢c b
seroe sinC sinB
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(i) Garemd B elfCaramors Grsswb GuTg, . F+al-bt=0

AD = b sinC 4
" s B ct+ a® - b?
cos B= —u—-
AD = ¢ sin(n— B) = csinB 2ca
bsin C =csinB .
Corauwd B, afifCsramwenatea,
¢ b

sinC  sinB

AC? = 4D* + DC?

aenGer wrstulguo @m (WaCatel 4BC G, : p? = [csin (n - B)]2
a _ b _ ¢ . ) /
sind  sinB  sinC 3O + [a +ccos (n — B)]
o . B 2 2 2
2. wisTRID P YICETaIGT Po CaransBai Corensamer =c sin" B + (a - ¢ cos B)

USSRIST FTTLITSES TN 60
=c¢? sin* B+ a® - 2ac cos B + ¢ cos® B
2 2 2 '
c“+a® -b
cosB=—T———— UG ID. b>=c?+a® -2ca cosB
ca ‘ :

256a, wrgtWigd - wpéGareml 4BC Gev,
AC? = AD* + DC? Y
cos B = cra -9 QUBID.

b = (csin).’i’)2 + (a—-ccosB)2 2ca
1euGp,
b2 = ¢ sin® B + a* - 2accosB- BeliourGp , 5 R
2 2 2
a®+b" -c¢ b" +c¢” —a
+c% cos? B cosC = —2ab_ cos A = __i—ab—
b2 =c? 1 4% - 2accos B
2 2 2 ) -
cosB=SF& ~b v v a 2 sryeond 1
2ca
wrgnuiigid o6 wabstell ABC @ Udinmaaiabon Kipes.
Comremid B AemiGanawsweats, A
n ; - : (B-CY_b-c 4
b’ =a*+c? s cosB=cos— =0 ® s 2 T o4 cos 2
| 2 ¢ b A
d+a’-b=0 (i) a(cosB+cosC)=2(b+c) sin* 5
C
B a

102 103



(i)

. a b _ C
(M sin A sinB ~ sinC
a b-c
sin A sinB ~ sinC
b—c_sinB—sinC
a sin A
(55) (%5
2cos - sin
b-c¢ 2 2
a . A A
2 sin— - cos =
2 2
A (B—C)
sin— - sin
b-c 2 2
a . A
sin — - cos —
2 2
b-c A , (B—C),
cos — = sin
a 2 2
a b c

sind sinB  sinC

a b+c

sindA  sinB + sinC

a

b+c

a

sind | (B+C
2sin

b+c

)mm(

B-C
2

2sirz£-cosﬁ 2cos£-cos(
2 2 2

104

B-C

)

)

(b+c)sin—'2‘1=acos(

2(b+c) sinzg = a[z cos(

D SHAyeRND 3

b+ec

a
sin A cos

(55)

B—C)

B—C)
2

[ (B—C) (B+CJ :
=a|2cos - coS
2 2

=aqa [cosB + cosC]

wrsnwiigid @ (Wwebasreniullsy Useumbesnaubens Bniays.

B C : A
i - t— + cot — | =2a cot —
@ (B+c-a) (co S te 2) >

(i) @ +b+c? =2 (bccos A+ cacosB + ab cosC)

i = (a - b)2 cos* % +(a+ b)2 sin Y

a b

- G

c

2 C

PRy

@ sin A - sinB - sin C

Qa

b+c-a

sinA  sinB + sinC — sinA

a

b+c—-a

A A~  (B+C (
2sin—- cos— 2 sin - CcoS
2 2 2 .

a

B-C

b+c~a

2

)—Zsinﬁ- c:os—’i
2 2

4 A4 _ B+C
2sin—-cos — 2 cps —4 cos B-¢C - cos *
2 2 2 2 2
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(ii)

(iii)

A
2a-cos§ 2(b+c—-a)-cos? )

‘[ws(Bf)—m(B;CJ]
(49

2acot 4 - 2(b+c-a)
) B _C
2sm—- rsm—
2
n B cosC + cos B sinc
sin — - — — -
A 2 2 2 2
2acot—2——(b+c+a) G

B
sin — - sin —
2 2

=(b+c-a) (cot—§+cot%)

e R L) Y R — (1)
R T LA Y. (Y S——— 2)
c?=a’ +b% —2ab cos C  =eemremeenmees 3)

H+2+Q=

a® +b% + ¢? =2 (bc cos A + ca cos B + ab cos C)

(a- b)2 coszg- +(a+ b)2 sinz—g-

2 C

= (a2 ~-2ab +b2) cosz—(zi +(02 +2ab +b2) sin £y

C
= (a2 + bz) cos® < + sin’ <) 2ab (cos 2L _ sin’ —)
2 2 2 2)

=a’+b*-2abcosC ‘

=Cz
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D _FHryssnd 3
A+ B+ C=180" eafer, Naiugpsaiaiabems Bimeys.

() cos24+ cos2B + cos2C = —1.—=4 cosA- cosB - cos C
(ii) sinA+ sinB~ sinC =4 sing - sin -li cos-g—
(i) cos® 4 + cos®* B - cos? C=1-2sind-sinB-cosC

0] €0s2A4 + cos2 B + cos2C
=2 cos (A + B)cos (4~ B)+2 cos® C— 1
=~1-2cosC - cos (4 - B) + 2cos’ C
=—I~2(:osC[cos(A—- B)-cosC]
=—1-—2(:osC[cos(A ~ B) + cos (4 +B)]

=-1 —2cosC[2 cosA-cosB]

=—1-4cos A cosB cos C

(i) sin A+ sinB - sinC

. (A+ B A-B . C C
=2 sin cos -2 sin — - cos —
2 2 2 2

) . C C
~ 2 sin — - cos —
2 2

C (A—B) (A+B)
=2 cos — | cos —-Ccos
2[ 2 2

=2cos—C—- 2sin£-sin-—lz
2 2 2

C
=2 cos; cos (

. A . B
=4 sin — - sin— - cos —
2 2

2
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Y.

(iii) cos® A4 +cos* B - cos® C c 4 B
=1-sin— -2 sin — - sin—
cos2A+1  cos2B + 1 5 2 2 2
= 5 + > -cos* C

=‘1—2sin—4— . sinE - sin —
2 2

1
=1 +E(cos 24 + cos 2B)—COS2C

=1+ cos (A4 + B) cos (4~ B) - cos* C (ii) sing + sing + sin% -1
=1~ — B) - cos? ,
cos C cos (A— B) - cos” C , [ A+B 4-B) L (A+B

= 2sin cos +-1-2 sin -1

=l—cosC[cos(A—B)-—cos(A+B)] 4 4 4

=1—cosC[2sinAsin B] | ] (A+BJ[ (A—B) ) (A+B)
=2sin cos - sin

=1-2sinA sin B-cos C 4 4 4

_ (ﬂ-c { (A—B) [n (A+B)jl
= 2sin cos - cos | —-
® gHuyesuid 4 4 2 4

A+ B+C=n el Uereumeisiounenns Bpeys. : =2sin(ﬂ;C [2sm (n;A)-sin[n;BH
A B
@) sinz—+sin2-~+sin2£=1—2sin£-sin£-£ .
2 2 2 2 2 2 . (n—-A . (rn-BY . (n-C
= 4sin 2 - sin 2 -sin 2
A B - - -
(ii) sin-—+sin—+sin§-—l=4sinn A~sinT[ B~sinn ¢
2 2 2 4 4 4 i
. L4 LB ,cC D FHTJswID 5
@ sin —2—+sm ;+sm 5
_ tanA +tanB + tanC = tan A - tan B - tanC e1efei,
1 1 ,
=3 (1-cos 4) + > (1 - cos B) + sin® % , () A+B+C qoiug 1 @ BeopOuei LLKEG eeoy,
1 c ' (i) tanrd + tanrB + tanrC = tanrA - tanrB - tanrC '
=1- -2—(cosA + cos B) +sin2—2— sleeyD Himieys. (7 - HlenmGiuissr)
1 A+ B A-B L, C X+y+z =xyz eefer,
=1-— x2cos - cos + sin® — s
2 3 3 3 3

3 3
X—X - - - 3z-
3 3y y 3z-z - 3y y . Z—~Z

L C { (A - B) (A + B)J o @ 557 U5 N5 T o 1-32 1-322
=1—=8n—|cos - Cos : ’
(b) x (l—yz) (1—22) + y(l—zz) (l—xz) + z(l—-xz) (l—yz) = 8xyz

6l 2_UiGHSHM&E.
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() tanA+tanB+tanC=tand-tanB - tanC
. X N y A 4xyz.
tan 4 + tan B = — tanC (1-tan 4-tan B) I-x2  1-y? 1= (]_xz)(l_y2)<1_22)
tan A +tan B ’ :

Il -tanA-tanB = ~tanC x (1 _yz) (1 _22) +y(l - x2) (1 B 22) e (1 - xz)(l - yz) = 4xyz
tan(A4 +B) = tan(n - C) .

A+ B=nn+(n-C) 2 _Siyswid 6
A+B+C=(n+l)m=kmn (- 1 AT )]

: ) A+ B+ C =180 eefen,
rA+rB+rC=mn (m- PHeomGue)

) A B
sind + sinB + smC=4cos? © COS - cos? ol BmIas.
rA+rB=mna- rC “
BFIGHI,
tan (rA + rB) = tan (mr~rC)= —tanrcC y B c . (n—A) . ﬁ_BJ Cos(n_c)
, = — — = 4cos
tan rA + tan rB ’ €ry *cos 2 *cos 2 4 4 4
= —tan rC
I-tanrd - tanrB sin2A + sin2B + sin2C = 4sinA - sinB - sinC
tanrA +tanrB + tanrC = tanrd - tanrB - tanrC asdvﬁsnmmm 2_WHHHE.
X+ty+z=xyz sind + sinB + sinC
x=tand, y=tanB, z=tanC aes, A+B A-B . C C
= 2sin ) cos( + 2sin— - cas—

BueuUTwe fanAd + tanB + tanC = tand - tanB - tanC 2 2 2

s169Gey, GG GuUIBLILL L wyeledmhbal, r = 3 sefem, c 4-B A+ B
(@) tan3 4 + tan3B + tan3C = tan3A4 - tan3B - tan3C = 2cos— [cos( _ ) + cos( )]

24,5C6u,

3x - x3 . 3y—y3 . 3z-2° - 3x-x* ) 3y—y3 ‘ 3z-23 %@w. =2cos£[:2cos§-cosg]

1-3% 1-32 1237 132 1-37 o372 2

4 osA cosB cosC
= 4005 COS— - COS —

(b) r=2 aeflen, 2 2

tan2 4 + tan2 B + tan2C = tan 24 - tan2B - tan2C A B C

, sinA + sinB + sinC = 4c05——COS—+COS =  amammmmmmmcmanaaa (1)
2x 2y 2z 2x-2y-2z

+ - .
1-x2 l—y2 ¥ 1-22 (1-—x2)(l—y2)(1—22) A—>90-—-24-, B—>90—g, C——)90——§—' stenlt g BHui
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A B C n-A\ . -B -
¢)) :>c0s—2—+cos5+ cos—2~ = 4cos( 2 )cos(n4 )cos(n4c)

A—>180° - 24, B—>180° - 2B, C— 180° - 2C
stlewr (1) @60 Lirsduic ' ‘
() = 5in24 + sin2B + sin2C = 4sin A-sinB-sinC BW.

&doy: A+ B +C =180 syguongsien 4, B, C BB6 CuBLLGD ApYysis
A, B, C esiusupfing (penmGui

. . A . B
(i) 90 Y 90" -—, 90° —% SIRTLiIEUBEnmELLIT

() 180°-24, 180°-2B, 180°-2C eELABHBEWT
Uy gulL somb. gQemeflsn, -

o A
(90 -_-) * (900 - EJ * (900 _g) ) 1800
2 2 2

@80“—2A)+-@80°—2B)+—@80°a2cj=180° éu5m 

uuipd
5(a)
wrstuiigond @ (waGarefl 4 BC @eb Uenaumeisnsupens Bmieys.
1. tan B;C = Z+z cotg
2. acos =(b+c) sing

3. (a+b +c)(tani + tan£) = 2c.c0,£
2 2 2

.(B—C
4., asin

k A

= b— —_—

) (6~c¢) cos >
112

10.

1.

12.

13.

14.

15.

16.

a(cosC~cos B) = 2(b~c)cos* =
a+b ( B) (A—B)
= tan cot
a-b 2
asin(i+8) = (b+c) sin 2
2 2

(b+c-a) cot£+cot£ = 2acot£
2 2 2

b2 5in2C + ¢* sin2B = 2bc-sin A
3-8
a(bcosC—ccosB) = b* — ¢

(b+c)cos A + (c+a)cos B + (a+b)cosC =a+b+c

sin(B—C) _ b2 — ¢t

sin (B + C) a*

(a2 -b? +c2)tanB = (a2 +b? —cz\)tanC
asin (B-C) + bsin(C-4) + Csin(4A-B) = 0
a,b,c aistiLien gl L6d efiHHuilsd &l@)w;f;g;’]@ﬂﬂ\d"l
cot ; cot g cot % sletiLsmeyld Fnl L 60 eflmHHullsd

SIMHSHHEGL sIHSHTL (Bb.
a* b, Gaauen allsd ef(hHaAuNed SienohSmuiet

cot A, cot B, cot C sisiiuamoyd dnl Led ell(pHHulisd DimiohBmeEGD

QfEar:%: I GES
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(301

-

A+B+C=180° asflssn siiumpastaupems Hpeys.

L
2.

3.

9.

10.

11.

12.

13.

14.

15.

16.

sin2A + sin2B + sin2C = 4sin Asin BsinC
sin2A + sin2B - 5in2C = 4cos Acos BsinC v
cos2A4 + cos2B ~ cos2C = 1-4sin Asin Bcos C
sinA + sinB + sinC = 4c0si cos—g cosE

2 2 2
tan A+ tanB + tanC = tan A-tan B -tan C

cos A+ cos B + cosC = 1+4 sing sing sin-g-

cos A+ cosB — cosC = -1+ 4cos g cosg sin—g

sin? 4 + sin* B - sin®C = 2sinAsinBcosC
sin® A+ sin* B + sin? C = 2+2cos Acos BcosC
cos? A + cos® B + cos® C. = 1-2cos Acos BecosC

2 B 2 C

.2 A ) A B  C
Sin® — + sin - sin” — = 1-2cos—cos— sin—
2 2 2 2 2

A B B C C A
tan—-tan— +tan—-tan— + tan—-tan-= = |
2 2 2 2 2 2

A B C Y B C
€Ot —-cOt — - cot — = cot — + cot — + cot —
2 2 2 2 2 2

cot B-cot C + cot C-cot A+ cot A-cot B =1

sin(B+2C) + 5in(C+24) + sin(A+2B)

B-C C-4  A-B
2

= dsin - sin - sin
2
A B C n+ A n+ B n-C
€COs— + cos— — cos— = 4cos cos cos
2 2 2 4 4 4
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CevdH'®d 2 HTJ6I0IHRIG T

D Hryewmp 1

)

(i)

tan30 =1 acleht, tand aawg > - 32 -3 +1 =0 e
FsoaUTLeLs Hoid Gelud aarssTl(Ges.

@FFoauTL L g SisHd, BOAPSID (PLSREEHSGL 955 0 G
QUEILTEIMIL TS &HTE8HISH.

1
cosx + cosy = 3

1 1 -
sinx + siny = 7 aeflain, tanE(x+y) = s Gs.

@ssvaGameng Hoid Qeiupd x, y @l eTedeom QUIDSHS
QUEILTIESMETULD HTERTS.
g (1982)
5in30

tan30 =
an cos 30

_ 3sin6 - 4s5in 0
dcos>0 — 3cosO
sin6(3 - 4sin? 6)
c059(4c0529 - 3)

tan® [Bsec2 0 — 4tan’ 6}
[4 - 3sec? 9]

tan® (3 - tan® 9)

1~ 3tan’0

_ 3tan® -~ tan> @
1-3tan*0

115



tan30 = 1 ercfia,

3tan® — tan> @ B
1‘3[(1’129 - (tane=t‘f5&|5-)

P -32-341=0
(¢ +1) (F-4+1) =0

1+1=0 ooz 2-4r+1=0
4+J12
2

t=-1 o =2+43

t=-1 2-43, 2+3 auew.

t=-1 oedeg =

tan3lo=1= tanE
4

’

_ [ sno3m 13 17x 7a
12127 47 127 12 4

tan — = tan (n+-—) = tan ~
12
tan —~ = tan (n+—) = 1an 0
In
tan — = tan (n+—) = fan ~—

(ii)

O<tan112<l tanl=2—\/§

12
tans—7t = tanl7—7E N tan5—7r =2+ \/'?;
12 12 12
3n n 3n
tan— = tan— ; tan— = —1
4 4 4

1
cosx + cosy = —
£ Y 3

1
sinx+siny=z ‘

x+y x-y 1
2 . E
cos( 5 ) cos( 3 ) 3 (1)
. (x+y x¥y 1
2 - = T e e e
sin ( . ) cos( 5 ) 2 )
xX+y 3
2) - 1 4 =—.
@)+ an( 5 ) e
L+—y=nn+a (aztan"i) _____________________
2
2cos(x+ ) cos (x—y) L auged,
2 3
(x——y) 1
2cos (nm + a) - cos = —
2 3
2(-1)"cos o - cos(x_y) -1
. 2 3
cos(x_y)=(—l)n'i [tana=i,cosa=i]
2 24 4 5
)~ 2mn £ cos™ (-1)"- 3 4
2 N 24 - (4)
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x+y=2nn +2a

x-y =4mn t cos”! [(—l)" . ;4—]

80 swaunGsailedmbad XY @ QupiwTaTRIEmME Seidsemd.

2_STyewnD 2

) 6 tan20 - 3tan® - 5cot® = SISO FWMLTL DL G Hids.

1-¢2

i sin2x = , cos2x = sl &ML (5.
1+1? 2 :

1+t
8RS =tanx

sin@ +sing = a

cos® + cosd = b e,
sin (8 + ¢), cos (0 + 9) asuaBer GupoTaTEssmeT b uled ST,
8ab

(a2 + bz)z -4q°%

tan® + tan¢ = INsE ST (5.

(1983)
(1) 6 tan20 - 31an® - Scot § = 0
6 x Ztazne — 3 tand - 5 _
1 - tan“ O tan0
12 tan® 0 - 3 tan? 9(1 - tan’® 9) - 5(1 - tan® 9) =0
3tan*0 + 14tan* 0 - 5= 0
(3tan29 - l) (tanze + 5) =0
ant9+5=0  siwowsi 3tan’9-1=0
tan* +5=10 tand = + -
V3
GurmSSHWHDS O=nnt —2— neZ

118

;) Sin® + sin ¢

i
o> 0

cos® + cos ¢

2sm(

2 cos( )cos( ) R —— )
2
1 -
(—) , t = tan(m) =4 SLGLD.
(2) 2 b
2a
2 b 2ab
sin (0 + =
( ¢) l+t2 a2 a +b2
1+'b7
-
1—¢2 _b_z JERpe:
cos (6+¢) = = =
( ¢) 1+12 a2 b2 +a2
1""*2
b
sin® @ + 25in0-sind + sin® o= a’ e )
cos® 0 + 2cos9-cos ¢ + cos? b= b2 e O]

G)+(@) 5 2+2cos(8-¢) = a® + b2

a>+ b -2

cos (6-¢) = >
tan® + tan$ = % + cs:;i
_ sin(6+¢)
" cos®-cos¢
N sin(6+¢)
21 [cos(G +0)+cos(0 - ¢)]
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2ab 2
b -a* &P +b2 -2
b +a? * 2

4ab 2 (a2 +b? )
2(b2 ~a2) + (a2 +b? —2>(a2 +b2)

D _gSuyesond 3

x @61 616060M QUITILON GITEIS (EThé: LD

acos® x 2bsinxcosx + c-sin® x GISIEID BHmeneuwITang),
a+c 1 2
- sy(a=c)" +46°  aaugpeD,
2 2
a+c 1 L
3 + ) (a- ) +4b% fSLENGWL U Dimwdng sar Binieys.

f(x)=9cos? x + 24sinxcosx+ 165in® x — k = 0 siguged &k @1 QumuoTen

alFenss @Tesis.

9cos® x + 24sinxcosx + 16sin® x — k = 0 eugen

BasLouflw Guuwragamsud, Wssddhy QuuITEThmaU|D STeamis.

2 . .2 25 . .
9cos” x + 24sinxcosx + 16sin’ x - ”y =0 asubd ST DS Bids.

(1985)

2 . .
g(x) = acos"x + 2bsinxcosx + c-sin*x e

= g (1+cos2x) + bsin2x + -;—(1—cos2x)'

120

= (ﬁ—c—) cos2x + bsin2x + (a+c)
2 2

2 e b a+c
+b2 2 COs2X + ——————— 5in2x +

a-cY a-cY’
) ( )+b2
2 2
1 2
5,/(1 ) +4b cos2x -a) +( )

-1< cos (2x+a) <1
1 1 2 1 2 2
— +4b cos(2x+a)<—qf(a—c)" +4b
,f +4b2 2 2

]

51,5861, .
axe %,la c) +4b7 < g(x are % (a—c)’ + 46> DGO
f(x) = 9cos® x +24sinxcosx + 16sin’ x —k = 0
k = 9cos® x + 24sinxcosx + 16sin® x
@ig a=9 b=12 c=16 aEw.
GuwBe GuDD WIBHSI,
1
a+c - 9+16 _ 2 - (a—c)2+4b2 = l % 25:2_5.
2 2 2 2 2 2
25 25, 25, 257
2 2 2 2
0 <k 25

9cos® x + 24 sinxcosx + 16sin® x @ei ®1fey Guguoremnd 0.

2 wireyuGQumpiorend 25 Sp@LWw.
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' 25
9cos? x + 24sinxcosx + 16sin® x ~ T =

25 25 25 7 . 24
—cos(2x-a) + = - Z==0|cosa =- — sina =
2 2 4 25

2 FHryewnd 4

@) Sinx +cosy = 1

25

cos2x - cos2y =1 eGigid @EHESMD SMLITESMmENS i,

N 1
(ii) cot‘l[ﬂ—lj + cot'l(y—ﬂ-—l) + cot‘l(zx+
x-y y-z z-x

Brg n Kepluemt SLEW.

() sinx +cosy =1

cos2x — cos2y =1
@ BSHE, (1 — 2sin? x) - (2 costy - 1) =1

2sin2x+20052y=1 ------------- -(3)

122

) =T gensem (.

(1986)

0, 3

17

(i)

@eimhel,
2sin’ x + 2(1—sinx)2 =1

2x—4sinx+l=0

4 sin
(2sinx- 1)2 =0

) 1
sinx = —
2

1
1) @mpe cosy = 2

sinx = ! 1
=y cosy = —
y >
j " cos cosTt
sinx = sin— = -
6 y =y
e n
=nn+ (-2 =2mmn * —
X ( ) 6 ¥ 3

Bmg m, nagiue BenpOWwemisem@Ld.

1
cot'l(xyH) + cot™! (————yZHJ + cot‘l(zx+ J =nn
x—y y-z zZ-x

cot™! xy+l =A eaa&; tand = XY
x—y xy+1
cot™ yz+l =B e, tanB = rZ
y-z yz+1
i 2
+ p—
cot™! Zx =C e, tanC = X
zZ—x zx+1
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BUGUTWSI ran (A+B) =

tanA + tanB
1-tanA-tanB
x-y y-z

+
xy+1 yz+1

- (5l
(x-y) (pz+1) + (y-2) (xy+1)
(xy+1) (yz+1) = (=) (»-2)

xyz+x—yzz—y+xy2—xyz +y-z

_xyzz+xy+yz+1—xy+xz+y2-yz

(x—z)+y2(x—z)
(1+xz) + y2(1+xz)

(x —z)(l +y2)
(1 +xz)(1 +y2)

= 222~ _tanC = tan(~C)
T+xz

tan(A+B) = tan(-C)
A+ B=nn+(-C); n- HeopGuem

A+B+C=nn. ,. BenmGuiest

D _SHTyewnd 5

)

3
(cos26 + sin® 9) aEiuamg afayuBHACWT Sisvevgy Geuml
(pemmulGevir cgs6e+sin69 aRIUMS cosdd Ba 2 _muysafsd

1 5
o1ipd), DD mBSI cos®0 + s5in®6 = —2—sin49 + 7 aEilD
FOMUTLOLS BTHs.
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(i) tan2a +tan2B =0 eefer, o + P easiug g @i

BenmOWIGEIOL BIG eTen [Bimieys.

tan® + tand + 3 =0

tan20 + tan2p = 0 eisigud FLGHUT GBS CHTGHmwG
HopLPurso, dpemed 00 BOGW 180° BhGBleLulsd L iomu

Sienwd eTeveon Garems@amigsal 0,¢ aaUMDDE STERIS.

1 1 1

- _1Xx - n
(iii) tan ~ x + tan E~+tan —5 me Lies.

x
3
(1987)
) 2 2 .3
(i) (cos 0 + sin 9) =1"=1
c0s%0 + 3cos® 05in® 0 +3cos? Osin 0 + sin®@ =1

cos®0 + sin®0 = 133 cos? 0 sin’ 6(c052 0+ sin* 6) ‘

=1-3cos? Bsin*

cos® 0 + 5in0 = l sin40 + —5-
2 4

2cos46 + 3.1 5in40 + 3
8 8 2 4
3¢c0546 — 45in40 = 5

-3—cos49 - isin46 =1
5 5

cos (40+a) =1 [cosomg, sina:%]
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40 + o = 2nm

6= —i—[Znn—a] ; n - BlenmGuwest

(i) tan2o +tan2P =0

W' tan2a = —tan2 = tan(-2p)
200 = nn—ZB
200 + 2B =nn

(T8e1} o + P = n% (n - BeppGwes)

n S
24,58eu (00 + B) 245~ @at PeonGUISTH DLEISTGW.

an8 + tan ¢ +3=0 —emmeemmeeeeee 60

tan20 + tan2 ¢ = 0 —=mememe e (2)
GuBe Poetwudelmpps (2) =

T
(6 +9¢) ooz = B HeOPOWeE WLEETGLD.

2
"~ Gugb 0<96, ¢ <180 @B
0<0+ & < 360 HBD-

b
@ @d@ps O+ ¢ =n-
aeiBeu p eaIBSsHHYU QuuiTamsst 1,2,3 SGLb.
n=1 eeflar 0+ ¢= %

tan® + tan¢ + 3 = 0 esuuDHaNHHSI,

tan® + tan[—;z—e)+3=0

tan® + +3=0

tan

tan’ @ + 3tan® +1 =0

126

tan = —3tJ§
2
tan® = —3+J§, tan® = ~3—.‘/§
2 2
Bue tand <0 0 >90°

0" <6, ¢<180° 0+ = 90" asged,

0,¢ @ne Sy Bedensv.

n =2 eefer,

0+¢=m

tan® +tanp +3=0

tan® + tan (n-6)+3 =0

3=0"
26580 n= 2 QUIGHSNS.
n= 3 eaeer,
3n
6+dp=—
¢ 2

tan® + tanp +3=0

tan0 +

+3=0

tan

tan* 0 +3tan® +1=0

tan® =

tan6 =

—3+J§

2

3145
2

agia. 0=0, [90<0 <180°]

aaBGeu ¢ =270 -6; BL.

tand =

-3-45
2

aeis.  0=0, [90<6, <180]

aaBeu ¢y =270 -6, L.
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tan_1x+tan_l£+tan_1£—ﬁ (]
(iii) ; =5 ()
(@
tan ' x= A, tan_lf-zB, tan'l—{=C
2 3
tan A = x, tanB:i, tanC=-’—c-
2 3
T
(1) BOmba A+B+C=;
A+B=Z_C (i)
2
tan(A+B)=tan(——C)= l
tanC
tan A +tan B 1
l-tan A tanB tanC
X+ = 3
l-x-Z x
2
3x
2 _3
2-x? X
2
x 1
2-x%2 x
xt=2-x2
2x2 =2 x? =1
x=z]
A+B+C=% aeugTe, X # —1
Lx=1
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D FHayewind 6

a’+ b’>c? aeflai, acos® +bsind =c @D  FWITUTL DS

HouHwrs@dam 0 @HGWw 2 BP@WeLGW o,p e @ Geugy
GQuyoremissit @ma oS Hs.

2
cos* a—BJ_= <
2 a + b?

X =sina egiug ax3 - 3% + sindo =0 B @mupalaIGsT g,

SIBST IDHDDW APEUBIBMEL QuUDD Bisupenn CsmemEissfe
MFHHENTE T(BSHHIDTHS.

&6 [Bipieys. ‘

o=10 IRIEGETERICLT  Di6060G) GsumieasiomsGeur

cosecl0” + cos ecl30° + cosec250° = 6 aamBsI.Bs.

(1988)
acosO + bsind = ¢

c

215

cosO +

sin® =
a’ +b2 a® +b?

c

\,az +b2
c
\/az +b?

~1<cos(6-¢) <1 aammgmsd,

c2

cos-cosO + sind-sind =

cos(6-¢) -

{ii)

<1
a? +b2

a2+b22c2

@mrg a’+b%> 2 STRTUST6D,

~1<cos(0 - ¢) <1 ay@w.
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cos(6-¢) = ——c—z—

at+b

0-¢=2nnzty, n PeopOuiest
0=2nn+y +¢,2nn-y + ¢

a=2mm+y+0d B=2mnr -y +¢ seis.
Ca=B=(m-m)2m + 2y e '0))
cos(o — B) = cos2y = 2cos2y — 1 ~—omeemeecrre ¥}
=2 2C2 71
a“+b
N

o =0 erefedr, I

aeBey, c? = g2 4+ b2
syemed c? < a’+ b2

aeanBeu o =

(1) @@Hal, 2cos (_a_;_ﬂ) ~1= 2cos’y -1

cos? (a _ B) = cos® y

2
2 2
oa-B 2 ¢
=cos“y = \
[cos( 5 H 0s” y eIy
(i) 4x3 ~ 3x + sin30 =0

4x3 _3x + 3sino — dsind o = 0

X = sina ae @LUuESSH0 IgHul,

130

=cosY egim. [0<y<m]’

4sin’ a = 3sina + 3sino ~ 4sirta =0
X =S8N0 @b APSOLDT@LD.
4x3 - 3x + 3sino - 4sinS o = 0

(x—sina)[4x2 + 4xsina ~ (3—4sin2 a)} =0

x—sino=0 DIOOH 452 | 4gin «:x.x+(3—4sin2 a) =0

-4 sino. -i_-‘/16sin2 a+16 (3~4sz’n2 a)

X = sina X =
8 it
_ ~4sino \/4800.;2 o
8
_ —sino + \/gcosa“
2
1 .
x:—(*sln(x +‘\/§COSG),' x:l(_sina_ 3cosa)
2 2
| 3 | 3
X = ——sino + —cosa, . X =-——sina -~ —cosa
2 2 2
2n . .27 ' 4n . . 4n
X = cos—sina + sin—cosa = cOs—sinat + sin—cosa.
3 3 3 3
. (21: ) ' . (411: )
= sin| —+a =sin|—+a
3 3
= sin (120° +a) = sin (240° + a)

STULLL FOGILTL Q6N (LPEOMEIEBET (4x3 ~3x+ sin3a = O)

. . (2m . (4n .
sino, sin —3—- + ai, sin -—3— +a| SSW.
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1 1 1

@G , ) e . . .
wal sina, i ( n ) ( 4 ) LIMEND (LPEORISETT &
sin| —+o| sin|l—+aq

GasreRiL FOMUTEG 4x> ~3x + sinda = 0 eTeTLl60,

1
x 8vs ; U Lﬂgé\uﬁ]@mgmm‘)'@umﬂu@m.

1)’ ]

4 (—) -3 (—) +sin3a=0
X X
sinda-x> —3x2 +4=0

: 1
a=10" eaefen sinda = sin30° = —2- DLGLD.

. swaun® x? - 6x2 +8=0
(POVBIBET X, X3, X3 = 0

(x=x) (x=x,) (x=x3) =0

3 2
X7 = (% +x +x3)x% + (xyx, XXy X X)X+ X% X5 = 0

X +x2,+x3 =6

PN S B

sin10°  sin130°  sin250°

cosecl0” + cosec130° + cosec250° = 6 ShGlD.

D _SHAJeumd 7

tan(® + a) - (3 +2\/5)tan9 =0 sesfan,

5in(20 + &) = 2 sino. e1emd ST (Ha.

8ue 0 alngflu Quowig S eyssit FTHHIDTGD. siha Qe elFensd sams.

B89 ®Ba  tan (9 + —Z—) - (3 + 2«/2_) tan® = 0 eaeigid swIUTCmLS

JeluPuns@w o ee QuuioTeBIsmaS STeawIs.
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(i)

(iii)

M

o wsbareilar GCanewmiset A, B C s_;,@m 0 e

eGUILOTENS BN @

tan 4 + tan(B+8) + tan(c-0)

oo Bmieys.

tan (

1

tan(B+a) = (3+2-\/§) tan®

cos(

sm(9+a; _ (3+2\/5) 5in®

0+a cos@

sin(0 + o) cos® = (3+2«/§) sin® cos(6 + a)

2sin (B+a)cos® = (3+2J5) x 2sin@ - cos(8 o)

sin(26 + o) + sina = (3 + 2\/5) [sin(26 +0a) — sina]

(4+2\/§) sind = (2 + 2'\/2_) s5in(20 + o)

4+22
2+2ﬁ

sin(20 + o) = V2 SiNQ —emeimmmeman (1) .

sin o

sin (20 + a) =

-1 < sin (29+a) <1 opzeomed,

1 .
- — £ sina < — S GL.
-\/_

7S

tan (9+—761) = (3+2\/_2_)tan9

m
@Breig (1) b =-g el SyguiL,

sin (29-1— ) =

Sl
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a1 . . Coa
cos” x) = sin (cot 1-2—) GPID FORUT LS Hibs.

= tan4 - tan (B+6) - tan (C-0)

(1989)



() A+B+C=180"
B+C=180" - 4
(B +6) +(C—6) = 180° - 4
tan[(B+6) + (C-0)] = zan[180°—A]

tan(B + 0) + tan (C—O)
: = —tan A
1-tan(B + 9) tan (C-0)

tanA + tan(B +6) + tan(C - 6) = tan 4 - tan (B+8) -
(iii) tan (cot’l x) = sin (cot'l —1—)
2
" af1 |
cot” x = A; cot (5) =B

tanA=sinB ; cotA=x, cot B=%

tan2 A= sin? B

*
N
]
R
=
It
H
w|&

tan(C-9)

n
tan A = sin B; 0<B<—2— 2560T60 sinB > 0

tan A > 0, 0<A<12t-
x>0
V5
@1,5(3611 x=—3-

o _ZHuyswnd 8

deieupld FwaiunBsmeng Sirdbs.

() s5inB - cosB = —— (i) cosT'x = sin”

J2

(iii)  sinxcosx — 6sinx + 6¢cosx + 6 =0

. 1

() sin® — cosB = —
2
—l—sinB -

A

cosﬁsine - sz’nE cos0 = l
4 4 2

—l—cose = l
2 2

sin (9—3) = sin s
4 6

n T 9
6 =nn+(-1) g“‘z; n- BennGulssin
ey -1 . —1 n
(i) » cos x—-sin "x=—
6
cosVx =4 61615, cosA=x
sinVx=B 6T . sinB = x
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T
x=—
6

(1990)



B:E—A (ll)
2
T T
12411
4= (5-4)- 5
2A=2—1t
3
4=2
3

(iii)

sinxcosx + 6 = (sinx—cosx)

(sinxcosx + 6)2

36 (sinx ~ cosx)2

2 2

sin® xcos® x + 12sinxcosx + 36 = 36 (1—2sinxcosx)

sin® x-cos® x + 84sinxcosx =0

sinx cosx (sinx cosx +84) =0

sinx -cosx =O[sinx~cosx = %sian # - 84]

sinx =0: X =nm

cosx =0 x=2mm nm-  pemGuwes

® FHZTyenp 9

() acos®0 +bsind cosd + csin*0 aeLDS Acos(20+B) + C
SIID agabHled aGSEITES. @G A, B, C sudumen 0 g
snynpeme. @FOGHE E = 8cos’0 +9s5ind-cosd - 4sin’0
sigigid  Garemauiar sl Quiw Qupuorendemeu Vs Fmlw
CUEIOTISSUID STemis. diHHLead E =0 g6 BBHEGID animICHTmID
0 maud HTEMIH.
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Db,

(@) Ssinx — 12 cos x = ~13sin 3x
2xy1- %2 )

(b) sin'x +tan™ —x—-—;— =1
1-2x -2

(1991 Aug.Special)

() acos®6 + bsind cos9v+ csin @

% [a(1 +cos28) + bsin26 ¢ (1 - cos20)|

(a—c
2

a+c

)cos26 + gsin 20 +

- @ cosoe n)« [222)

a-c) + b?
(a-¢)

N | —

@ug 4

2

+c

2

< ; sinB = b
Via- c)2 + b2 v (a—c)2 + b2 %L@lb'
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C =

cosB =



E = 8cos’8 + 9sin® cos ® — 4sind

a=8 b=9 c= -4

a+C=_8—:i=2
2 2
% (a-c) 24 0? = \/ 249 =
I 1 ;
E=——a+c +E a-c) 2 4b? . cos 26+B)
15
E.=2+—5—cos(29+B)
E @fey ; cos (20 + B) = -1, E @fey =2—1_25.=—_121
15 19
E e wiey ; cos (20 + B) =1 E 2 wiey =2+—2-=—2—

.4
E=0 g, cos(26 + B) = 15 = cosa SI61.

n
—<a<mn
(2 )

4
cosB = % = g
206 + B = 2nn +t a
. -9 -3
sinB = — = —
15 5
0 = nn ig - E
2 2
6o n O B
= 2 2 (GnimRIGHTERID)
(@  Ssinx —12cosx = —13sin3x
5 . 12 .
— sinx - — cosx =-— sin3x
13 3
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sinx cosa — cosx sina = -sin3x
sin(x- o) = -sin3x

sin3x = sin [—(x—a)]

3x =nm + (-—l)"[—(x—a)]

n gmem sefer, 3x=nn—(—x+a)

3x =nn+x-a

T o
X = —— e e
w2—«~.~ M:«WTZ_,!?,«
m a
x = (2"‘1) 3" 5 ( n - PleopOwex.)

n @ e ereedr,
3x=nn+ (-x+ o)

4x = nn + o

+
&R

; (n- plenpGuwest.)

®_sSuysmnd 10

(a) cos (A + B) Bb&ETer KU G&SHTSMS LLGTLGSS

cos 20 = 2cos’0 — 1 oié sEGE. cos20 - tan® +sin® =

SIIEID FEUT 196 OUTFIS Bieheud STews.

139



®)

(@

2¢0520 — 2c0s220 = cos20 — cos40 I FTUFLELTL ML

Boeys. BAeSGHS!

2n

1t . .
cos ; - cos — = sleid &ML (H&S.

Nl—-

1++5 3n . )
cos % = 4J_ oer 2 WsaHibE  €OS 5 @bmsrer GUEILOTENSHMSHSH
BT

Ueteupld FLGLTHEDET X BDETES Hibs.

tanx - tan(x - o) = tana (o % 0)

- _ m
tan'x + tan'2x = :1_

(1992)

cos(A+ B) = cosA cosB - sind sinB

A = =0 e,

cos20 = cos’® — sin*@
= cos’0 - (l—cosze)

= 2cos’® - 1
cos26 - tan® + sin® =0
cos2 0 - tan® +;os6~tan6 =0

tan® = 0 sisvsog cos20 + cos® = 0

0 = nn ' 2cos’0 + cos® -1=0

(2 cos® — 1) (cos® + 1) =0

cosf = %

9=2nni%
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D
i

2nm *+x

diey: 0

i

€os20 -~ ¢os40

]

n
9=? 61601%.
2n 4
cos-s— - cos —515 = ZI:cos2

27[ T
cos — + cos — = L3
5 p 2 (cos

5
2n
&Gey, cos — - cos —
5
n
cos — - (2cos2 I 1
5 5
4 cos? r_ 20031:_ -
5 5
cos — Z_iﬂ
8
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nw; 6=2h1t:t£-
3

s n—BenpGuiss.

(2 cos’9 - 1) - (2 cos’ 20 - l)
2

cos?9 - 2 €052 20  ——ececmmmmenn

- cos® 2—"
5

1
2 RGLD.

1
2

[}
o

2n
cos —) (cos L 4 cos 2n
5 5 5



M @ 8 = 2% aaw WyHuigs,
5 -
co —6—7£ - coslz—7t = 2 [cos2 —_— 0s* —6——73]
5 5
2 ,
- ¢cos — — cOs L 2 licos2 22— cos? —jl
cos—+cos— =2 (c 52 cos? 2—)
cos = —cos~2—71 =1 i
5 5 5 HSID.
. ) I 1-45 ,
aBe Wwhenpw Hiey cos—s— = 2 SUSW.
M)() tanx — fan (x — Q) = (ANQ -meeemeeeeees 6))
tana. = fan [x -(x - oc)] IS 61(LpSHEVTID @

(i)

tanx—tan(x — o)
tane, = ——— e ©)
1 + tanx - tan (x — )

(1),(2) @9ha

tano [1 +tanx - tan (x - a)] =

tana

tanx - tan(x-a) =

®)

0
tanx = 0 o6z . fan (x-a) = 0

X = nn SIFS0F] X =AM + o n - Blenpoiiesr
- - n

tan'x + tan™! (2x) = "

tan”'x = 4, tan”'(2x) = B ess.

A+B=2
4
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tanA + tanB : T

tan(A+B) =
l1-tanAd tan B 4

x + 2x
1 - 2x2

2x%2 + 3x -1 = 0

-3 +417

2

_ 17 -3

= 3 ._.._2_._._

]
!

n
8<4< 7 TEusIe, X

2_guyeuond 11

Uelini@pd FwsminpBsenensd Gidbe.

® 3 (sinx+cosx)2 = cos2x
- 1 - 1 ~1(1
(ii)_ tan l(x_—_l-) - tan 1(;——1-) = fan 1 (5)

2siny.sin(x +y) = cosx

cotx+sin2y = sin2x

HAU FoHUTESM X,V FHolgs QFUSHDa. (WpSHeoTaug SFoenp
sinx. sin2y = cosx.cos2y egud augenHSed GWRBHILULEND EIRIS
&M Bougsi apsod oisdevg Caupieligons ¥ BB @B FwSUT ML
Gupis. BFOmHaE 0<x<w, 0<x<n S5 BQopss XY
S AwaBpse Gt GRUILL grrissms FoaUTBosmend Bibs.

(1993)
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i 3 (sinx+cosx)2 = cos2x
V3 (1+sin2x) = cos2x

cost—«Bsin2x = \/5

1 NE) V3

—Cco$2x —~——sin2x = —
2
coszcos2x—-sin1t—sin2x = ———3-
3 3 2
cos(Zx + 13[-) == cos—’f-
2x+—=2nm % z
6
n m .
X =nn iTZ_ - -g n— RenpGues.
i tan”! (—1-)— tan™! (—1 ) = tan”! (—1-)
(i) x-1 x+1 2
A=tan"l[ ):>tanA= !
x- x-1
B= tan"l(———) = tanB = —1-
x-1 x+1
C= tan'l(l) = tanC = -1—
2 2
A-B=C
tan(A-B)=C
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®)

®
(i)

@

tanA-tan B

——————— = tanC

Y+tan A tan B

v

x-1 x-1__1 2 1

L L 172 273
x-1 x+1

2siny - sin (x+y) = cosx

2sin y[sinxcos ¥y + cos x.sin y] =cosx

2 5i . .2\
siny cosy. sinx + cosx. {2 sin” y)=cosx

sin2y.sinx = cosx(l—2sin2 y)

siny.sinx = cosx(cos 2y)

sin2y  cosx
cos2y  sinx

tanly = cotx = tan(%—x)

n
2y=nm+|——x
Y (2 ‘

sin2y =cosx [n @ylenL GIaﬁ]G'il]‘

sin2y = - cosx [n gieon erefe)

cotx+sin2y = sin2x @D,

cotx +cosx =sin2x

o5 X

——+ cosx = 25sinx cosx
sinx

Cosx [l+sinx ~ 2 sin® x] =0
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cosx = 0 (1 - sinx) (1 + 2sinx) =0
cosx =0, (1-sinx) =0, (1+2sinx) =0

0 <x <t aswmmsD,

n
x=—
2
x=1—t- sTeafledr sin2 =cosx=cos7y=0
2 : Y 2
2y=0,n2n
V=027 e (1)

(i) sin2y = —cosx eiefam,
cotx+sin2y = sin2x ei@ugsv
cotx —cosx = sin2x
cosx(l—sinx - 2sin? x) =0

cos x(1+sinx) (1-2sinx) =0

cosx =0, sinx=-1, sinx=;
y=® m 5n N
27 6 6 [0<x <n sz
m
x =-2— aieflsd, sin2y=0- y=0, 7‘2,1;
n
ng erelled, sinly = — ?
4t Sm
2y = — =
Y 3 3
P —
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x—s—n aflen, Sin2y = coséﬂ
g een, y p
3
sin2y = —
7 2
n 2n
2y =—, —
7 3 3
_& = ;
y 6’ 3 T 3
Biey x = — eeofler, y=0—, 7
X—E T\t 7—2_n.5_7£
6 T 376
6 e, y 63 YGW0

o _guyessnp 12

@ Liss

@ 6tan®x - 2cos

2
(i) cos™! [xz — 1) + tan'l( 2x ) = -zf(x >1)
x 3

+1 x2 -1

2= cos2x

xX+y X —
=Uu 6]’66]’6)"]), cos

24 =V etemeyd SpLuler,

()] sin
sinx + siny = ‘\/—2-

1 , . .

COSX .COSy = -2- QAU QRIS FOILITFESsTT

1 2 2 _ 1 - .
uv=—=, v’ ~u’ =~ Gl QOHEGL awmE SN (5.
V2 2

BHOGHE ST L. HHEMEID FIOSLITHSMET X, y @ fueibpssred

L.
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2

U] 6tan® x — 2cos® x = cos2x

6tan’® x — (cos2x +1) = cos2x

6tan® x = 2cos2x + 1

t=tanx eens.

-7}

1+t2

(612—1)(1+t2) =2(I—t2)

6t =2 +1

614+ 512 —1=2-2¢2
6t* +712 -3=0

(32 -1) (22 +3) =0

3t2-1=0; t= % —
3
1
fanx = * —
3
n
xX=nmn i—6- n-— MenmGwes

x“+1

, %% -1 af 2 2
@) cos l(xz J+tan 1[ 2x )=Tn(x>l)

X = tand 6i6ns.

cos™! (~cos2a)+tan™! (~tan2a) = %73
-1 -1 2n
cos™ (—cos2a)+tan [tan(—Za)] =5 e {

(n-20) + (~2a) = 3371
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1:-—40.:2—“
3

4o ==

3

T

o= —

12

X = tana = tan %<l =~ QUTEHSTEL

(1) 80mHg
cos™! [cos(n-—2a)] + tan”! [tan(n—Za)] = 2—3”—
2n
(r-20)+ (n-20) = 5
2n-4a = 2
3
4a = 4n
3
T
a=—
3

n
X = tlano = tan;:ﬁ

u = sin (x+y)’ v = cos u)
2 2

sinx + siny = ﬁ

2sin(x;y)cos(x;y) =2 (1)
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. 1 .
2uv =2 w= f x= (m+2n)n+ (—l)m

2cosx.cosy =1

&~la sl

y=(m-2n)n- (_l)m Brig m , h- HepCwesissit

cos (x+y)+cos(x~y) =1

,:1 —2sin? (x—;—-l)] + [2 cos? (xz;y) - 1:, =1 i y i
V= 5 = ——
N

2[x-fy) .2 (x+y) 1 :
cos” | ——|-sin" | —= == ... - -
2 2 2 & cos(x y)=-—1 sin(x-i-y)=-—L
| 2 2 N
2 2
ve—ut =— -
2 X=) onm+n x;—y = mﬂ—(—l)m—g—
uv=—1— v:— gyt =1
V2 2 x=(m+2n+1)n - (—l)m;
p2o 11 |
2 mT
2v 2 y= (m—2n—1)1'r + (—1) Z,’ m,n- ﬁ]mm@mauhﬁsﬁ
2t —v2-1=0 .
2 siyewnd 13
(22 +1) (1) = 0 i
2 2 2 ' X BnEnes Hiss.
vitl#0 s vi-1=10 (i) 3cosx-—-4sinx=Ssinkx; k- @ wmisd
v=1 v=-1 (i) 4-4(cosx-sinx)-sin2x =0

v=1%1 1 ) 1

U= — U= - —

V2 , V2 (iii) coslx —sintx=2 OScos—lx$7t,—-n—Ssin"lxsE
6 2 2
1
U= —— . .
2 (1995)
M 3cosx—4 sinx =5 sinkx
COS(x_y)= 1; sin (x+y - L 3 4 i
2 2 ) ;cosx—;smx=szn kx
wara A S Y e mn +(-)" " cosoL cosx —sina. - sinx = sin kx
2
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cos(x+a) = sinkx = cos(g——kx)

xX+o=2nn + (g——kx)

4
(k+]) [2)171:4-3-'—(1] n- nilsoam@u.lm

x——l—— 2nn - L aj; 5
(l—k) 5 5 n- BlenmGuiest

(i) 4 ~4(cosx-sinx) + [(cos)c—sinx)2 - 1] =0
t = cosx—sinx 616015,
4-at+12-1=0
2-4t+3=0
(1=3)(e-1n=0
t=3 speog t=1
—\/5 Scosx——sinxsﬁ SISILSBTED ¢ = 3 QUTEHHSTSI.
cosx — sinx =1

1

1.
—=COSX ——7=Sinx
V2 V2

_j;_
(e2)e

x=2n% oede0g 2nmn +-72£,' n - BlenmOuiem
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- , - T
() cos”'x—sin lxzz

A
n
cos'x=A esis, sin'x=B e#s. (B = ;_A)

A-B="1
6
A_(E_A)=£
\2 6
24=T, K _4m 21
2 6 6 3
A=£;cosA=x
3
1
Cos— =x = —
2

o gryesnd 14 |

®

(i)

(iii)

™)

cosx+2sinx+1
cosx+sinx

ST Hs.

A+B+C =n eafer,

cot Acot B + cot Bcot C + cot C.cot A=lasns & {Gs.

Sid®. tand + tan20 + tan30 = 0
tan"l(—l—)ﬂan"1 (l) = tan™ (l)ﬂan"(z) siel Blaueys.
2 3 4 5
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aeiug | Biah 2 Qielon.Cu semow (uITasHers
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£ = Sosx+2sinx+1 tanA.tan B.tanC gev INéa,
cosx+sinx
cot BcotC + cotCcot A + cot Acot B = |
(E—l)cosx+(E—2)sinx =1

k= \/(E - 1)2 +(E —2)2 EIGS. (iii) tan® + tan20 + tan30 = 0

tan® + tan20 + tan® +tan20

E-1 E-2 1 1-an®.tan20
coSs X+ k smx=;

(tan6+tan26) (2—ta;19.tan29) =0

1
cos(x-a) = % tan20 + tan® =0  odevm 2-1and. tan20 =0
Icos(x—oc)] <1 1an20 = —tan® = tan(-0)
1 20 = nn +(-6)
—5-<1
k2

nn .
5 0 = — ., n- DepQuess
k> -120 3

2-tanB.tan20 = 0
(E-1’+(E-2"-120

_2un’e

2E’-6E +4 320 - =
: 1-tan“ 06

E’~-3E+2 >0 .
1an® = + —== t tano =tan (ta)
V2

(E—l) (E—2) 20
E<1 osez  E<2. ‘ O=nn ta; n- BepGuesn
Q&Cen E, 1 @new 2 BbofaGu SLGUBIOTENSEBUD SIHSETHI.
' . a1 a1

(i) A+B+C=n ‘ ) «wn (;) + tan (;)

A+B+=n-C ,

1 -1 1
tan (A+ B) = tan (n—c) A = tan (;) B = tan (_3-)
“—f’:;;t?;z = —tanC tan A4 = % tan B =—;— 1 0< 4 <-}; 0<B<%

tanA + tanB + tanC = tan A .tan B .tanC
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. R . Wne
tan A+tan B ) A4,B.C.D dlw wrhfedssit seveomd 8§  Fryrseanulmes
tan (4+B) = tandtianB

1 tan A.tan B ~Asinx + Bcos x+Csin 2x+ Dcos?2 x'=0 esigid swoaLTh x Qe

6606V CUGIOTEIRIGEDSGID 2 HMOWTES Bouler @bs widledssit
1 1 PRCITEIDID WFFWLIDTS BH 360 BouemiBL s1oMdH M Hb.
23 _, o (1997)
LT
2 3

.
iy cosx + cos (x+£)+cos (x+—2—n)
@) 3 ;
2z T
cosx + cos x+—3— + cos x+? =90

tan”! (—l)+tan_1 3 m T n.i
4 5 2cos x+; .cos—3~ + cos x+-3— =0

C=tan’! 1 , D =tan! 3 m
4 5 2cos x+; =0
1 3 n
tanC=—,tanD== 0<C, D<— -
S e ' cos(x+—) =
3
1.3
tan(C+D)=mnC+tanD= 45 x+—=2nni§
1-tanC.tan D 13
4's
x=2nm+ 2 -1 ; x=2nn-2_T
T - 2 3 3
C+D=~— (C+D<7t) i s
4 . =2nm+—; 2n1r——n,' A - glenmGiLiemr
A+B=C+D ' 6 6
-1(1 -1 (1 -1(3
tan 3 + tan 3= tan " + tan 3 (i) sin3x = 4sinx.sin2x.sindx

2 (cos x - cos3x) sind x

2 _SHTyssnd 15 =2cosx . sindx - 2cos3x . sindx

= (sinSx + sin3x) — (sin7x + sinx)
-

(a) Fiss. (i) cosx + cos (x"'-;-t-) + cos (x+—23E

0 =sin5x - sin7x - sinx

= ~2c0s6x . sinx — sinx
(i) sin3x = 4sinx . sin2x . sindx
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0 = sinx (1 + 2cos6x)
1
sinx =0; cosbx =— Py

x=nn; 6x=2nm % 2—;12

x=%[2nni 2—315] n— Bepowes

®) Asinx + Bcosx + Csin2x + Dcos2x =0 -
(x @6 el6LVTL GUEIIOT RIS EHEHBELD)

x=0 e, ); 0 » Y | J——
n

x = aae, I, Y| R— )
- ,

x = - aefle, Iy, Jo | J— 3)

x=%  acle, Sy B, P | R — @)

(1), (4)=>B=0;,D=0
(2), (3)=>4=0;D=0
;. A=B=C=D=0

® siyewib 16
® @ 0<a.B< auicks,

cosx + cos(x+a) + cos(x+B) = 0 esigaitd
FoUTLIgell QUTHIS Sienaits CUDIs.

(i) x>-+3 e, tan_lx—tan'l(

x\/-3--—1 _T
x++3 "6

sl T (H5%b.
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b s 9n WwstsTaisgn Caramas eifaws el Pipeus. G Whbaread
T
ABC ufeo Gasremnp C = 3 o BB WTHHTCW

1+1_3
a+c b+c a+b+c

siid ST (HS.

(1997)

@ (@) cosx+cos(x+a)+cos(x+B)=0
COSX + COSX.cosO — sinxsino + cosx.cosP — sinxsinP =0
cosx (1+cosa + cosB) - sinx (sina + sinp) = 0'

1+ cosa + cosP
tanx = —M8M8M8M————

sina + sinf

1l 1+ cosa + cos .
xX=nn+tan '[—————B] ;n -~ BennCuwes.

sina + sinf3

(i) tan “1x—tan! (

x3-1)"
x+43

3-1
= -1 B = tan'l x
A=tan " x, ( x-hﬁ

—-£<A,B<1‘—;
2 2
x>—J§=>x+J§>O
_x\ﬁ_—l a x2+1 x3-1

= >0: =>x >
x+\3 x+43 ﬁ x+43

tanA - tan B
1+tan A tanB

x

tan(A- B) =
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xV3-1 | ® gryewnd 17

x—.
_ x+43
x(xﬁ _1) aupsswra GHUI BLe o wasCatesl A BC ule,
Iy — 7
x+\/§ a = b = c
sinA sinB sinC ST Bies.
2 .
=x“+1=_l_ . = (b _4. B_C
J§(x2+1) NEY @ a=(b-¢ cos— cosec ——
-T< A-B<n, gg it A - B-C\ b+c A ,
| opprad- 50 (i c"’( 2 )= boc [ S Bl
4-=1
6 BaubIeIGHE, a> = b2 +c2—2bc.cos A G 2 WSHNE.
- V (1983)
tan”" x - tan™! x\/:; ! =X .
x+ﬁ 6 WOW.
a b ¢
1 i 4 3 sinA sinB  sinC
®) + =
a+c  b+c a+b+c a b-c
1 1 3 sinA sinB-sinC
& — - =0
atc b+c a+b+c a _ Copee
A A B+C) . (B-C
(b+c)(a+b+c)+(a+c)(a+b+c)—3(a+c)(b+c) 2sin~-cos 2“’5( 2 )'s‘”( 2 )
(a+c) (b+c) (a+b+c) ;
2 2 9 a _ b-c
o a +b°—c" —ab -0 2in£cos£ 2sin s B-C
(a+c)(b+c)(a+b+c) sin.cos3 sin=—.sin| —
& A+ -F —ab=0 A B-C
a=(b-c) cos=.cosec e 1)
= az+b2v—c2 =ab 2 2
a’ +b% -t b =
< 2ab ='2‘ sinB  sinC
1 ) - - b-c _ b+ec
cosC:; "’ng sinB — sinC  sinB + sinC
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bre 4 (B=C
anz cot (2)

(1) @Soba

a* = (b-c)’ - coszi;— . cosecz(B;C)

2
~—-(b—c)2 . cosz—/-‘—[H[ﬂJ - tan® ﬁJ
2 b-c 2

=(b-c)? - cosz-g; +(b+c) - sinz-f}

=b%+¢? - 2bc.(cos2—§- - sinzg)

=b+c? - 2bc. cos A

2 _Sriyend 18

supenowTel GURUIGSELS @ wWwibstambd ABC ufsd

a b

3 = =— sl BTL (5.
sindA sinB sinC ®

() bSin(-§+C) = (c+a)sin§

162

C ti
cot = + co 5 2

@) B T cta-b
: cot E‘

(i) a,b,c aeuam gl L0 ellmBHHulied DIMOHSHTED
A B C o ) _
cot—, cot 7 cot —2- siLeTaD @eHeuTH DiEMOUiD sTeNd BT (5.

(1984)

a b ¢
sind sinB sinC

b a+c
sinB  sinA+sinC

b a+c
=
B B A+C A—C)
2sin—cos—  2sin .cos

2 2 2 2

b a+c

B (A—C)
sin— cos| ———

2 2

(a+c)sin—B—=b-cos(A—C)
2 2

[180°—B-C-—C]
= b cos 3

= b sin (£+C) mmmmmm )
2
b a+c-b
sinB  sin A + sinC — sinB
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b a+c-b (i) a b, c, esiue siLed NBHHUID DiEwulsd,

BB (A+C A-C B B b-a=c-b=a+c=2b
2 sin — - cos— 2 sin cos - 2 sin — cos —
2 2 2 2 2 2 :
A C
2b cot— + cot — -
b a+c-b , = 2 2
B A—C) (A+C) 26-b corZ
sin—  cos ~ cos 2
Nl g 2 2
B A C
b a+c-b ; 200t;=cot—2-+cot5-
B~ .4 _C
sin — 2 sin — - sin — C L
2 2 o586y COL 5 001-2‘ , cot 5 sleiILen gal L 60 efladEuled iemiowb.
2b sins 1 L
atc-b sini-sing— sini-sin—g - 2 _Snyssnd 19
2 2 2 2 sinB
cos ' x + cos7! y+coslz=n aelen,
_ cos—z- % 1 x? +y2+2% 42 xyz=1 ead &1 js.
sini . sing cos 8 CUTBSDLoTE ueEUTed X,Y,Z s Qe Q&g
2 2 2 .
A+B+C =1 eefle,
sin — A
. .2 B ,C
sin* = + sin® = + sin® = + 2sin 4. sin£ . sin£ =1
2 e 2 2 2 2
.(A+C)
sin
_ 2 . 1 SINILENG 2 UWIGHSE.
S .4 . C
sin—.sin—  cot—
2 2 2 Ay, Ay, A3, Ay, A5, Ag esiuen 2 Fdmsi QUL 60 DIMOHSIETENGID
in2 . cosSh cos A . sin€ Aidy = Ay A3 =2a; Ay Ay = 44 A5 = 2b; A5 dg = Ag 4y = 2¢ agud
sin— - cos— — - sin— . . .
-2 2 2 2 1 sumEulisd Simobgision g CaTaiLTG. @eiow L SBet oy A s
C
in— - sin— t— 3 2 2 2
Sy “r x - (a +b" +c ) A -2abc=0 eguge srOLGH e EINCES
coti + cotg (1759
26 _ 2 "
a+c-b cot 2
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cos'x+cosl'y+cosz=nm

1

a=cos'x, B=cos™! Y, S§=cos”!z eens.
cosa =x, cosB=y, cosd=z; 0<a,P,dsn
o+B+d=mn
a+f=n-8

cos(a+B) = —cosd

coso.cosP ~ sina.sinP = —cosd

x.y—\ll—xz.\/l—yz =-7
(x y+z)2 =(1—x2 )(l—yz)
x>y +2xyz+22 =1-x2 -y + x? y?

2yt + 22+ 2xyz=1

a+B+6=n Qg@lb: A+B+C=m=

a—.’.t__ﬁ B—E_E 8—.1‘__.2 .
2 2 2 2" 2 2 9®
(1_1) (£_£)+(£_£)-3_ﬂ_ A+B+C
2 2 2 2 2 2) 2 2
In =
= e - — =17
2 2
-1 n A -1 T B 1 n C
CoO§ X =-———_  C0S y=—=--—, €CO§ Z = =— «—
2 2 2 2 2

, . B . C
sin—=x, sin—=y, sin—=z
2 2
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x?+y*+22 +2xyz =1 asuder dyBuiL

2—C—+2sin—7-4;sin—B;sing--l Ih)
2 2 g T wel

2 B

24 — + sin
2

sin“ — +sin
2
4(a+B+y) =4m

a+B+y=1 &b
AL LGS Uenf ) STSUEI.

x=cosa =42
= X
b

y = cosB = Y
z = cos -

x2 +y?+22 +2xyz=1 esugde,

al B 2abc
+

vty e !

N -(a+8 +F)h-2abc =0 b

o sryewmib 20

aupewwrer GUILUGsELa wigGwrg wobsredl ABC @ed
a _ b _
sindA sinB  sinC

sieid ST._H5.

@ (b2 - cz) cotAd+ (c2 - az) cotB + (a2 —bz) cotC=0

(i) a*t +¢% = 2b% eefel, cot A +cotC =2cot B aenss (s
(1986)
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a b&:é,.!; 4
sindAd sinB sinC

=k~

b2 _ 2
sin’ B ~sintC

k? =
cot A (b2 - cz) = k? ‘(sinz B - sin® C) cot A
K2
= > [(l—cos2B) - (l—cos2C)] cot A
k2
= 7 [cos2C - cos?2 B] cot A
k
2

=—.2¢sin (B+C) sin (B—C)- cos 4

sin A
= k2 sin (B-C) cos A

(b2 —cz)cotA + (02 —a2) cotB + (az —bz) cotC

= k?.sin(B-C)cos A + k2 .sin(C-A) cosB + k? .sin (A-B)cosC

= &2 [(sin‘B +¢osC — cos B sinA) cos A + (sinC cos A - cosC sin A) cos B

+(sinA cosB - cos A sinB) cos C]

() &% +c? = 26° eafen,

2

(1) BeI®mH,

(b2 —cz) cot A +(02 —a2) cotB+(azi—b2) cotC = 0

(a2 —-b2) cotA+ (az - bz) cotC =»(a2 - cz‘) cotB
(a2 —bz) (cotA+cotC) = 2(02 —bz) cotB "

cotA+cotC =2cotB
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a®-b"= b~ c? sew. Gogi g% — 2 = 2p? -2 =2(a’ - )

'D_gwyaxmb 21

w&6arel ABC @naiw enpsnwowrer Gl IGamens CaTesi(p,

a b c
sinA sinB sinC % Bipie.

walaremb ABC ufled Gamemid 4 uleh 2 e @@ sepréswnengs, BC g

2bc - A

COS— SYyGb 616 HmIeYS.
b+c 2

D @6 spdHuler AD =

c>b ecfler, Garemid A ulen Geuefully dnprédwnessy BC ® E @ev

FhFien AE @nelu Busbunss CatensiGunaienml Qums.

Camemdb DAE Qe 2 eielp sepié&dwneag, DE 8 X Beo gwums&

\/—2—bé.sinA

AX = - Q&GOwas ST Ha.

A . A) . A A)
clcos—+sin— | +b|sin— - cos—
2 2 2 2

b= ¢ aaflelt, AFE, AX ubp wig SFamupgupb?

AB BD .
— = —— (266l Fmral)
AC DC G o
¢c_ BD
b DC

c+b BD+DC

b DC
b+c _§£
b DC
B D c
Dc-_-"_b
b+c
A4DC gw, 2C _ AD
. A sinC
sin—
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AADC @, D‘; - 4D
sin2 sinC
DC .sinC
AD = ———— —
D . A
sin—
2

absinC

(b+c) sing

be.sinA

b+ in—
( c)sm2

2bc-cosﬁ
AD = 2

[asinC = ¢ sin A]

(N

| (b+¢)
Caramd 4 @eir Oovell @uanprad AE gew.

CE = —
C—
4 ACE @ s’l“‘; - CE
" in (90“_)
AE = CE sinC

bec -sin A

ab sin C

A
"(c -b) cos 3

2bc-sinﬁ
- 2

' A
(c - b) cos 5y

el pe @

AADE @& £LDAE @& o sefip snmprad AX oo
gy (1) @eipha!

AX

AX

- ( A . A) ( A AJ
c|lcos — +sin —j+b |sin— - cos —
2 2/ . 2

2AD - AE - DAE
—_————— CO0§
AD + AE 2

2bc A 2bc ., A
cos —+ —— sin —
c+b 2 c¢c-b

- cos 45°
2 be y 2bc-sin—2—

cos — +
c+b 2 c-b

2bc - 2bc -cos—d-sini
2 2

1
2bc[(c—b) cosg + (c+b) sin %] X V2

«/5 bc- sinA

2

b=c asfa, AE,BC g¢ sph@esrg. AE|BC

AD L BC .

AX = w/;.b.cosi:-
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o Fuyewrd 22 AABC = AAIB+ ABIC+ACIA
Aseiug o6 watarsml ABCular uylusTan@Lb. aupbseorer G BL 6 A = l c-r + _]_ bor+ l a-r
2 2 2
1 .
A= =bc-sindaan Poas woCsiel ABCula GCsreawmm el r S
2 =—(a+b+c)
A,B,C easuapha o siell® &mprédsel eHiToUSSBISmeT penmpGw 2 7 !
|
D,E,F sydweupded Oeou Balsimpen. pa@aresfl ABC uleh 2 sauLenowid r = _ 24 'y
[ Q. a+b+c 5
2 A cosec 4 Al = r cosec-é- =2——— osec —
A1=-———‘—éamdsasm.'_®&. 2 a+b+cc ¢
a+b+c
. L 2abc4a . .
wpalaref D, E, F @6 ugliustey slemayib ST (H&.
- (b+c)(c+a)(a+d) 4B _ BD 4
(1988) AC DC
¢ c c _ 8D
b DC
' F E
: c+b BD+DC _ BC _ a
| b DC DC ~ DC
1 .
i ab
DC =
4 D B A B c+b B )
A ABC @eir uptineney A ABC @ ugiustey 4 ABC @6 uguueney @6xsturss CE = ba
! a+c
=1AB-CD‘ =1AB-AC =1AB-CD , ] ab - b
2 2 2 4 DEC @6 uptiueney = — + —— - 42 . sinC
1 1 1 N 2 b+c a+c¢
=—c-bsind = —c-b == c-bsin(n - A
2 2 2 B 4 (A4BC wex upienay
= —— &1 Liiuen
L, | , L (a+2) (b+0) B
=— bcsin A = —c¢c-b-sin— =—bc-sin A=14
2 2 2 b
AAEF @6t ugliueney = .______ﬁ__A
= — b-csin A -~ (b+a)(c+a)
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(a+b)(b+c) 4 (2 bc)2 _ (b?. +c2 - 02)2

) (2 bc)2

ABF D B ugliene] _

ab be ca }

ADEF @en ugtustey = 4 - {(a+c)(b+c) "Bracra) " (c+b)(ath)

(26e- 87 - & + a®) (2bc + b7 + ¢ - a?)
F(a+b) (b+c)(c+a) —ab(a+b)—be(b+c) - ca (c+a)} (2bc)2
I (a+c) (b+c)(c +a) ‘

. o el ][ of -]
} _

(a+c) (b+c) (c +a) 4p°c?

L

_ (@a-b+c)a+b-c)b+c-a)(b+c+a)

2 2
o _gHryssond 23 4b°c
e ) b+ +4° a’ = 4a’ b’
aupeoLITeT GEUILGESELE cos A == ——— a& Fpes. sihd (a+b+c)(a+b-c)(b+c+a)(c+a-b)
a b c 2 2
; == = a6 2_ISSHNS. Reueur@m, b , < steiuemeyd GUIBLILIGLD.
sin A sinB sinC sir® B sil? C
u + ! = 72)' e1afled, ' a’ _ b? _ c?
a = =
¢ ‘ , sin® A sin* B sin* C
@ —— s 2 ,
a - = 616MELD, a b c
sinA  sinC  sinC - = . , .
1 1 l sin A win B sin C [a ,b,c sind, sinB, sinC > O}
® 24 * HC - . B samob Bpeye. 1 N 12 e
a o ad el - = 2 6,
sin” - sin” sin” = e p b
(1989)
a b c
: 2 - 4 a = = = k oo,
cos A = é——%———g—-— @ sin A sin B sin C
c
1 1 k k
: + = — 4 -
(b2 + ¢ - az) ' sin A sin B a c
sitrd = 1 - cos* A = 1- 5
(2b¢) 2 1 2
= k c—_ = 2. = -
b sin B sin B



cos=1—2sin2§ 1 1 2
—_+ - ==
y a ¢ b
2sin23-=1—cosA a+c_2
_1_b2+c2—a2 e !

- 2bc b= 2ac

a+c

=az—(b—«':)2

2bc
_(a—b+c) (a+b-¢)
- 2bc
smzA___(a—b+c)(a+ b- ¢
: 4 bc
1 1
+
sin? = sinz—
_ 4bc + 4ab
(c-a+b)(c+a-b)

—(a—b+c)(a+b—c)

c(c—a+b)+a(b+a—c)}

_ 4b
(b-c+a)(b+c-a) a-b+c
( ) ( 2ac
: cle—a+ —— +ala-c+
_ 8ac c+a a-+c
b~ b+c-
(b-c+a)(b+c-a) (a+o) {a+c_2ac}
a+c
8ac clc—a)(c+a)+2ac® +a(a-c)(a+c)+ 2a’
(a+¢) (a2 + cz)

' =(b—c+a)(b+c—a)
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(c+ a){c(c-a) +2ac+a(a-—c)}}

_ 8ac
(a+c)(a®+ )

—(b—c+a)(b+c—-a)

- 8ac
(b-c+a)(b+c-a) (a+c)(az+c2)

_ 8ac =7 x
(b-c+a)(b+c-a) (b-c+a)(b+c-a)

2 _gryswnd 24

up&Canemfl ABC uiel L&EMEET a,b,c 2 1D DIOIEFHDDENG] § 21D SHSITRIHEN
h, h, hy 2.1b, 2 s oy r o b aafisl, daaiGaaiabomn Bmieys.

L, 1,11

8 — +
O %W T m o

O | —

1 1
(i) Camremmimst 4BC eaeuen 1:2:4 e Gepinied, P = -I; +

Gi) 2(PA% +PB + PC?) =a?+ b7+ + [48s(s-a)(s-b)(s )

Bui, P asiiugl, Sigso (P ulled) (psCaramdbdien LEsmEsT 120° DMOESTH

|

(pa8aTasHalet e Lsisfwnrgib.
(1990)
A
@) WwHCsTeniiulsh Gerigsaimound H
2 siteu_ Lenwlld I 6161%.
2_6ieUl L ey r. H
AAIB + ABIC + AAIC = A4BC
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lc.r+ -l-a.r+lb-r=AABC
2 2 2

T 2n 47
44 A:—-'Bz-——'C=—
(i) 7 7 7
sin A _sinB  sinC -
a b c
1
b ¢ sin—7t n—.’E
5
k-2 sin = cosE
1 1 7
» T T 4n
b ¢ sin — - sin —
7
k-2cos =
= = /( l =—1—-
. T n . T a
2 sin — - cos — sin —
7 7 7
6] l+——1
4,586y b p
178 .

(i) 42 = PR+ PC? -2PB- PC - cos 120° 4

= PB*+ pC? +2PB. PC. cos 60°

= PB*+ PC2+ PB.PC

Bsieutg 52 , c? SieLUBBS: SHEHIUSTED,

B
c16m Gy,

a2+b2+c2=2(PA2 + PR? +PC2)+PB-PC+ PC-PA+ PA- PB

=2(PA4+PB+PC)’ ~3(PB-PC+PC-PA+PA-PB) v 1)

2s=a+b+c¢

48s(s—a) (s-b) (s ~c)

=3 x 25 x (25 - 2a) (2s - 2b) (25 - 2¢)
=3(a+b+c)(b+c—a)(c‘+a—b)(a+b—c)

=3[(b+c)2-a2] [a-(6-0)][a+(5-0)
=3[(b+c)2 —-az] [az —(b—c)z]

=3X2bc(1‘_i'COSA)Xsz(l—COSA)

=3 (2bc)2- sin* 4

‘/48s(s-—a)(s—b)(s—c) =3 x 2bc-sin 4

= 3x4><-;jbc~sinA



AABC = AAPB + ABPC + ACPA )  CC*=4C" + 4C2 -2 4C- AC, -cos (4+60)
A=SPA- PB. sin120° + %PB - PC - 5in120° + %Pc - PA- sin120°
2

N

:T[PA~PB+PB~PC+ PC - PA]

=brsc?- 2bc-(cos A-cos60 — sin A-sin60)

=b24+ 2o bc-cos A + w/gbc-sinA '

43 A=3(PA- PB+ PB- PC + PC - PA)—(3) 2, 2 2
3 a=3 N b;cZLJ”ﬁL, )
(1) @e9mbal, (2), (3) esusuBenpud IyCwTrdsg,
‘ 1
2(PA+ PB+ PC)> =a*+ 6%+ 2 +3(PA- PB+ PB. PC + PC - PA) =;(b2+c2+a2)+2ﬁ4
2(PA+ PB + PC)2 =a?+bts s J48s(s—a)(s—b)(s—c)
() A4BC @,

" 2 2 2

D _STJeunib 25 cosc Bt ai-c
2ba
wélaneml 4BC @60 aupdsonar GO GLer o :
' ‘ ' 4% +32_ 2
a?=b%+c?-2bccos A e BDIeY . ; = ” ¢
@) o (p&6ameml 4BC Wa ¢ uiibe SILTed 2 _6ilen LUGED 4B & 9 25 2
Foubs (WHCateml ABC| suenqulLLBsienal. A4 aeiug (paGasreniuls = ” M

urlusnOexenied,
| ) AD?= AC? + CD* - 2 AC-CDcosC
CC12 =— (a2 +b2 4+ c“) +23 4 aeid &GS

2 AD*=9 + 4 — 2x3%2 cosC

(i) ABC eai@ib g wpsbaraiuled a =4, b= 3 g Ew. =13 -12cosC
4, B gfusapfisn ren Genlwkiseh Sbapsh Camigsssfien

2.2 3)? 3
BE“=4 +(-) - 2x4x=cosC
5 2 2
cosC =3 BB (.

(1990 &iGsL) = 14% -12cosC
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24bc 4

AB? = 4G? + BG? () Gsremp 8(>0) aeg cosO= btc COS? aIsfigd  QBTLiTumed
2 2 (2 2 SILUGEBE. BB 4,b,¢ asua Wi8sted A BC @b UyGurdssd
- (_3_ AD) +(§ BE) ‘ UGBTI SISUDBOBIGHT UPHEIONET SHHSHHISGHEET B_ ML LIEN.

c? = g-’:(13 - 12¢o0sC) + (14% = lZcosC)J

a=(b+c)sin® aen Himeys.

sinA _sinB _ sinC

4] 12 .
= '_[—5‘ - 24COS CJ [, (2) [ b ¢
L sind - sinB _sinC
-b c
O, 2) BeBHa a
125 32 c sinC

25-24cosC === - 2= co5C
9 3

225~ 216 cosC =125 - 96 cos C

1
a-—b—sinA_—sinB k SO

sind — sinB = ksinC

100 = 120 cos C _ c c
2cos A+B) . sin(A B) = 2k-sin— cos—
5 2 2 2 2
cosC = Z
. A—B) C
sin =k - cos—
2 2
2 SHujsend 26 b
ksind T, sin 4
()  owsswre GAUILGLa 9@ WsCatal ABC ABeE I-k-cosB | _a<b
sind sinB  sinC 8 ¢
= = 61601 %.
“ ’ ¢ - (a-b)sin 4

a-b=kc eefen,

sin A—B) = kcos£ ;
> 5 Seeyb,

k-sind a A-B
l-k-cosB b tan 3 sieayld ST (Bs.
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c - (a—b)cosB

(a-b)sin A

¢ —acosB + bcosB

_ (a-b)sinA
- bcosA +bcosB
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(1991)



a-b ; sin A

b cos A+ cos

sinA - sinB

B

sin A

sinB cos A + cos B

_A:_B)
2

. 2cos (A
sin A

+B) . (
- Sin
2

in B * A
sin 2005(

2Wbe 4

cosO = cos—

b+c 2
sin*B=1- 4be 52 ﬁ
(b+c) 2

b2+ 2bc + - 4bc-cos2§

+B) (
- cos
2

(b + c)2

b+t - 2bc(2cos2—'2i - 1)

(6 + c)2

b2+ - 2bc-cos A
(b + 0)2

(b+ c)2 sin® 0 = a*

(b+c)sinB=a
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A-B
2

)

o_snyewnb 27

supdaonen SHLIGLS g2 = b2 + 2 - 2bccos A TIID GBHBTHHBL CUTIS.
@) o0 Wp&6sremll ABC wWeig ussb BC uleng pEUUsTeR D aafs,

44AD* = a® + 4bc-cos A e B,

(i) oo wssteml ABC Weism Gastewndb BAC uWeng o sl smmrad
2bc-cos—/1
AX aiefenn, AX =--—b———2 &GO Bpieys.
+C

(iiiy A4, B.C asuen walste gaiicr CoTermiss seafer,

cos® A + cos® B+ cos? C =1 - 2cos Acos BcosC  S4@Guwen Bipeys.

(1991 eNGsL)
A
@ (1) AC*=AD*+ DC?-24C - DC - cos ADC
() AB*=_AD*+ DB*-2AD - DB - cos ADB o] p
(DH2) AC? + AB*=2 AD? + DC? + DB? o

B D c
a 2 |
b2+c2=2,_w?+2-(;)

2
b2+c2=2AD2+07

44D = 2(b2+ ?)-d?
= 2[a2 + 2bccos A] -a?

=a*+ 4bccos A
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@ =%
AB+AC_ BX + XC
AC XC
c+b_ a
b XC
XC = ab
b+c
A4AXC @ev,
AX  Xxc
sinC A
Sin—
2
AX = ab _sinC
b+c  a
sin—
2
_ cb sind
T b+e A [a~sinC=c-sinA]
sSin—
2
2bc-cosﬁ
N b+c

(ii))  cos® 4 + cos® B + cos? C

_1+cos24 . 1+ cos2B
2

+ cos? C

1
=1+ E[cosZA + cos28] +cos?tC

1+ cos (A+B) - cos (A= B) + cos* C
1- cosC[cos(A~B) + cos (A+B)]
1-2cosC-cosA-cosB
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D_SHuyewmd 28

aupbaswra GOHUILEGLe wrstligib om ws8stambd 4ABC o,

sind sinB _ sinC
a b

BD:DC=m:n gewrm QousCsrefuls ussh BC Bgisien & Lsie

D quew. £BAD = a, LCAD =B, ZLCDA =0 e,

6168 [HIDIeYH.

(m + n)cot® = mcota - ncot p

=ncotC —mcotC een Buoys.
udsd AB uleh BELLETEA F i 2 5 A Wedmiba ussio BC &e eusmyuwinn L
Qemigeslen oip [ eh. CF 20 AL 2. P ufsd Bem_Geu. B samen.

2 - cot B(cot A - cot B) L.
tan ZAPF = SlENBEM .
cot A+ cot B
(1992)
BD
T-= ZABD =6 -,
n C A
BD AD
=D DC ZACB = - (6+p) a\ )

m _ sino . sin(9+[3)

n  sin(@-a)  sinf 5

m _ sino(sin®-cosB + cos-sinp) B D C

n - 1sinf(sin®-cosa ~ cosO-sina)
msinB-[sinGcosa - cosesina] = nsina-[sinGcosB + cosGsinB]
sin®-[msinBcosa — nsina.cosP) = cos® - sina - sinP(m+n)

msinB-cosa - nsino-cosp (m+n)cor®

sina-sinf3
mcot o, — ncot B = (m+n)cot®
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cot® + tan B

m_ BD BD AD '
—_——— = tonAPF = ——m8moonr— v
n DC AD DC an 1-cotO-tanB @
_ sin(6-B) _ sinC (1) Bei®HaI,
sinB sin[rc—(e+C)] cot B — cot A t tanB
tan APF =

sin(0-B)  sinC - I_EB—TM-tanB

sinB sin (6+C)

3.
N

cot B — cot A + 1

N [sine - cos B — cos9 - sinB] sinC

- [sin® - cosC + cos8 - sinC] sin B = 2 cot B
‘ (cot B—cotd) 1
- 2 cot B

msin B [sin(-)-cosC + cose-sinC] =nsinC [sinG-cosB ~ cose-sinB]
2 + cot B(cot B - cot A)

sinG[msinB-cosC - nsinC-cosﬂB] = -—»cos9(m+n)sin3-sinC cot B + cot A

neot B - meot C = (m+n) cot 8

2 ~ cot B(cot A - cot B)
- cot B + cot A

AABC @&, 4F=FB

£LAFC =8 | o gryemmb 29
(1+1) cot® = 1 cot B - 1 cot A g+
20010 = ot B ~ cot A —ommee ) @ spoowrer GPRUILELS, 96 (pECsTa ABC @6 UgliLSTe] 4 eI,
AAPF @sb 4= %bc-sinA RIUSHTH SFLUGHDE o160 Baeys. CHIF
7:
LAPF =7 — [9 + (;—B):! + Atani = bc eiawayb, +s5=b+c  eeiab Bmeys.
B tan= 2 stan;
=2 _(e-8)
2 @ug 2s=a+b+c
T i
tan APF = tan 5 (6-B) b o0 wabsted ABC Wie,
sin2B - sin2C
1+ tan® - tan B H =
= cot (p-5) = LELnd lon o A = c6s2B + cas2C % Bt
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@ug 0, H eaeuen (panpéw psGarerfiulen ég’}gumwu_ub, Bifirentownbd
sIGHLISSTEUTGHLD.

(1994)

(a) A=%bc-sinA'

= 4 +A-tan-4—
4 2
tan —
1
=lbc-sinA-i +—bc-sinA-tanﬁ
2 4 2 2
tan —
2
c sA sinA
1 >3 2
=—bc - sin A 2, 2
2 . A A
sin—  cos—
2 2
1 A 1
=—bc><2-sin—/-1--cos——x— = be
2 2 . A A
sin— - cos—
2 2
1b sind co
A P s a+b+c
A 5T . A 2
stan— —(a+b+c) sin—
2 2
2be 2 A at+b+c
= cos” —
(a+b+c) 2 2
o be [1+ cos 4] + atb+e
atb+c 2
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be {(b+c)2 - a2J+ a+b+c

a+b+c 2bc 2
ke (b+c+a)(b+c-a) , arb+e
T a+b+c 2bc 2

_b+c-a . a+b+c
2 2

b+c

(b) AAHB @b, LHAB=90" - B
ZABH =90° - 4
. usGen, LAHB = (A + B)

AH AB

sin (90— 4) " sin (4+ B)

c-cos A
AH = (1
sinC )

O sbpsulL sowwib. &6 04 = OB = 0C
1

Bx=1pc=1a
2 2

a

OB

= = OA 2
2sin A @ B

£HAO = (90" - B) - (90°- C) = (C - B)
ZAOH =0 eaeiis.
.. ZAHO = 180° — (C - B + 0)

AH 04
AACH @5, .9 ~ in(c-B+8) ()
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c

(1).(2) @eIpHE!,

sind  sinc TOHBTE
AH = cosC = cos A
sinC sin A
a
OA =
2sin A4
a-cos A a 1

(3)= sindsin®  2sind  sin (C—B+é)

cos A 1

sin®  2sin (c-B+0)

sin® = 2cos A [sin (C~ B)cos8 + cos(C—B)sinG]
sine[l ~2cos A4 - cos (C—B)] = 2cos A-sin (C- B)-cos®
tan8 [1 - 2cos A-cos (C~ B)] = 2cos A-sin (C - B)
tane[l + 2 cos (B+C) - cos (C—B)] = =2 cos(B+C)- sin (C- B)
tan@[1 + cos2B + cos2C| = sin2B - sin2C

sin2B - sin2C
1 + cos2B + cos2C

tan =

~
2 Hryesond 30
()  oupssorer AU GLE wrsTulgihd g wabatenit 4BC Beb,

sindA _ sinB _sinC
a b

ST601BETL (.

ABC eigiQon (p&latemiuisy C = g + 4 uipes, BsFABW Coramb

A asep, Beutuflu Csramd C ouseyb o_sienar. Clurgy sﬁﬁgﬂu_m&w
d yseisien Fal L 60 alGsauled a,b,c o_shenar.

a

sind = y s1ed BILig,

[2a2 + dad + 4d2] 2
192

cos A @mEw cos2A BBGWTE @55 Caramasment CUIIS.
V711 SsLMS 2 UISHSH®.

(i) ABC o6 Wabsrtamd. O, H siaiLel (LpenmGl DBl SHImIHOUIAPLD,
B enowipd H&Ww. CaTG OH <uewg BC wLai

_1[3 —tan B tanC
tan” | ————

agid CaTamgglsy FnubEHeTeNOHams BT HS.
tanB — tanC ; :

(1995)

(V) 44BC @e WessAfu Csnemid A = 4

n
&l Gufiw Gasremiib B +A=C

n
2586 B=E—2A ;

= = — SISILIF60
sinA  sinB  sinC .
a b _ c
i B n
sin A4 sin E—2 Al sin| —+ A),
2 2
a . b ¢
sinA cos2A cosA
a c ad ¢ dP+
= 2 . 2, 1
sind cos A sin“A cos” A
2 2
. a 2, €
sin? A= 5— » COS A=——7
a‘+c a“ +c

c=a+2d eeusms
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sint'd =

(12+(a+2(/1)2

02

2a2 +4ad + 4d

2

i1
0< A< ; SIGILIGHTEL

. a . .
sind = - % QYGID. —-mmeeme(1)
[2a +4ad + 4d2] 2
2
COSZA‘_" (a+2d)

2a%+ 4ad +44°

a+2d

cos 4 =
[2 a’+ 4ad + 4d2]% R—)) (i)

T
0<4 <§' SIHILIGTED,

]
(1) @pHE -2 - [ZZa2 +4ad + 4d2]é
sin A

a b c

sin 4 - cos2A4 - cos A

= [Za2 +4ad + 4d2]%

cos24 = b = a+d 3)

[2a2 +dad s 4d2]y2 [2a2 +4dad + 4d2]y2 ------

cos2A=1-2sin* 4

a+d a2

=1-2x 5 :
2a° +4ad + 4d

[2a2 +4ad + afz]}é

2
wedo_ Adad+ad )

242+ 4ad + 4d2]% [2a* +4ad + 4d2]y2

4d(a+d)
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2a%+4dad + 4d* = 164>

2a%+4ad -12d% =0

a’+2ad - 6d% =0

—21,/4 + 24

a._
d 2
a_ -l%* \/7
d 2
a,d>0. aenCeu ﬁ=£_-l
d 2
A4A4ABD @sev, A
BD=c-cos B
H
c-cos B
HD = o
tanC L i
H
HL = HD - LD !
|
B D X
— HD- OX = c-cos B __a :
tanC 2tan A
= ~cos B-cosC — a'c_OSA SE——0 )
sinC 2sind

OL=BX- BD = -‘21 ~c-cosB

ZLOH =90 aefia,
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. a b
c-cosB-cosC a-cosA

c
HL sinC 2sind ® sind  sinB  sinC
tan® = — = -
© 2 _ccosB a* _ b? _ c? B B - c?
2 sinf* A sin* B sin*C  sin® B—sinz‘ C
a [2cos B-cosC - cos A] L
2 =-c ] = 2504 : " sinlP A sin® B-sin’ C
sind  sinC [sin 4 - 25inC-eos B] :
2sin A ‘ 2 2 .2 L2~
b ~c¢”  sin® B-sin“ C _ (1—cos2B) - (]—-COSZC)
_ 2cos B-cosC + cos(B+C) a? - sin® 4 2sin’ 4
sin (B+C) - 25inC-cos B _ c0s2C — cos2B
=
_3cosB-cosC — sinB-sinC 2sin“ A
sinBcosC - cos BsinC  2sin (B+C) . sin (B—C)
_3—-tanB-tanC : - 2sin® A
tanB ~ tanC sin (B—C)
T sind
D FHTy 6D 31 I— 2 &aulL. emowld,
O — GBOsULL. enwid
@) (psCarenll GHTLILTE mear elPenws GBiGs. 1 4
aupssLTa GHUILBLET wistigid g watsrefl ABC @b, BM = MC = -2—a
2 2 2
+ b7~ =r.
cosC = g—b—q— a6 Blpleys. IL=r
2ab BL+ LC=BC
sin(B-C) b* - ¢? B C
- . B C _ '
sin A 22 SIEBE (56. rcot 5 + rcot a veNo
|
()  4BC @ WaCareiulsn Caorammiselsn @mamprsdssi Bl Geu Bo B . tC _ I :
Usttefl | 2.1, Léamssisn Qmamprédsst G Gal Gib ystel O 21 r | cot 5 Tee 5= i B L M
QUGW. 4 @B HimCsramd aaflal, BC @G 10 @ gFutey
‘ a a
_1|cosB+cosC~I| r=—r¢g c’ OM»=§COtA
tan | sinB — sinC I SIS ETL Bb. cot — + cot —

. (1996)
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Cxrewnp ION =0 oisitas.

_2r-acot 4

B
- 2rcot —
a r COi

2 - gcotA
r

a_ 2001—1g
r 2

2~ cotE + cot-C— cot A
2 2 :

cotﬁ + cotE - 2cot£
2 2 2

2~ (cot—Bi + cotg)cotA
2 2

(cot <. cot —B—)
2 2

B . C (B+C) cos(B+C)
2sin— - sin— + sin . —
2 2 2 sin(B+C)

.(B—C)
sin
2

1
B+C

cos (B_C) - cos (—B+€) +cos (B+C) + ——————
2 2
2cos( 5

)

) (B——C)
sin
2
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2cos (B+C)cos (B_C')—Zcos2 (B+C) + cos (B+C)
2 2 2
.(B—C) (B+C)
2sin cos
2 2

cosB + cosC -1
sinB - sinC

0 = tan-! cos B+ cosC -1
sinB ~ sinC

o _gsrysmnd 32

aupsELTe GOEIULL. Guel wigtigid @ (waéatel ABC @ne
sind _sinB _ sinC
‘a b ¢

61601 [BIMI6.

b2 _ 2 22 2_p2
@ 2c sin2d + < bza sin2B + 2 7——5in2C = 0 qerssn Gs.
a 4

(i) W&Carenll ABC @ew Hfisowwid P syew. AP, BP,CP S WIeR
éeareiullsar eiuusstisamen wwembw K, L, M S Aweubrled
shPademen. paGated KA @6 LMKL =180°-24 GTeayID,
LM =acos A eamew &1 [Hs.

(1997)

) sind _sinB _ sinC
a b c

sin 4 _ sin* B _ sint C
a2 b2 . 6‘2

sin® A _ sin® B— sint C
2 B 2

a
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b2 - 2 a sin® B — sin® C
a2 sin2 A

(I-cos2B) - (1—cos2C)
Zsin2 A

cos2C —cos2 B
2sm2 A

-2 2sin (B+C)-sin (B-C)
- sin2 A4

Sin2A = 5
a 2-5sin“ 4

sin (B~C)
sin 4

2sin (B-C) - cos A

-2sinAcos A

2 2 2 2 2 2
b —c* . c“—a° . -b
3 sin2A + 3 Sin2B + a 3 sin2C
a b c

= Z[Sin(B—-C)cosA + sin(C~ A)cos B + sin( A~ B)cosC ]
=0 ’

(i) prHUsESd 4CKM 2 G,
LAMC =90° = L AKC
s1euBey  JCKM el BIBUSSED
ustey LBKM = L LAM = A
BEx6UTed JIKB SIL BABLSSED.
LLKC = ZBAL = A
S ZLMKL=180°-24

AABL B, L ALB = 90°
AL = ABcos A = c-cos A
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AAML @sv,
AL ML
sinZAML  sin A A
ccosA ML I
sinC sin 4 M
B (csin A)cos 4 P
- sinC )
= .c -sinA-cos A
sin B K
= .a -sindA-cosA=acos A
sin

o gHrysmnd 33
@ tan_l[i) + tan'l(l) =" ams ST H5.
12 17 4
(b) cosx + cos3x = s5in2x + sindx ;e Hiss.
(© cos30 =cos0(2cos20 - 1) simds &1 (s

2z

BPGHE O = T BmHEE e S

(2costla - 1)(2cos17a—1)(2cos31a—1)(2cos330-1) = | aimssn Ge.

(1999)
1 5 7
A=tn1——-,B=tan — 5
a (12) (17) 616015,

5 7 T
tanA=—, tanB=—, 0< A4, B < — b.
A= P 4 60

tan A + tan B

t A+B) = ——m4m——
an( * ) 1—tanA-tan B
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5 7
..__+_
12 17
5 7
_-——-x—
12 17
e,
169

n
0<A4+ B<; SISHILIHITEV,

A+B=%

cosx +cos3x = sin2x + sindx

b)

2cos2x - cosx = 2sin3x - cosx
cosx (cos2x - sin 3x)=0

cosx =0 cos2x — sin3x=0

SI6LEVGI

n
cosx = cosE cos2x = cos (5— 3x)
2

x=2n1ti7y2 2x=2nni(%—3x)

n- Heombules

2x =2nm + (%— 3x)

x =-1— 2n1t+—7£]
5 2

n - BNenBoLIes

2x =2nm - (E— 3x)
2
Xx=-2nm+~
2

x=2m7t+E
2

-m - penmoluewt
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4

©

cos 38 = cos (26 + 6)
=c0s20-cosO — sin26~sin9
= ¢0520-c0s0 — 2cos0-5in* 0

= cosG[cos29 - 2sin? 9]

= cose[cosze - (1—00526)]
= cos8(2cos20 ~ 1)

cos30
cos©

2c0820 -~ 1=

(2cos1 1a~1)(2cos17oc—1)(2cos31a—1)(2cos33a~1)

33a
cOo§ ——
2

S5la

991
cos——
2

Cos——

17a
cos —
2

lla
cos —

S5la
cos—— .

930
cos—— .
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o Hryesond 34 (i) cos(a+P)sin(y+8) = cos(o.~B) sin(y -3)
() xsec® =1~ ytan® cos (a+p) _ sin(y-38)
x2sec’0 =5+ y* tan® 0 aflen, cos (a-B)  sin(y+3)

X,y @ndlenCu 6 g Mg OHTLiy genflanen) Qums.

=

cos (a+B) + cos (a—P) _ sin (Y ~8) + sin (y +8)

cos (o+B) — cos (a=B)

(i)  cos(a+B) sin(y+8) = cos (a—P) - sin(y—3) eween, sin (y—8) ~ sin (y+8)

cota-cotP-coty =cotd NGB ([Hs.

2coso - cosB  2siny - cosd

(i) ax . by 2 p? =2sina - sinB ~2cosy - sind
i — =a" -
cos®  sin® coto - cotP = tany - cot§
ax s;'ne B by-c¢2)s9 = 0 gefien, cota - cotP - coty = cotd
cos” 6 sin© 0
% % (2 _,0\%h - ax by 5
(ax)”3 +(by)? = (a b ) ST HT [Beb. (i)  ——+ e S )
()  xsecO=1-ytan®;, x?sec?® =5+ tan’0 ——a; = ___b;: =k 6160, ——mmmmmmmme e @
xsec® + ytan8 =1 R wem——) cos@ - sin” 0
PRV YU g Y S S — ) 2) B9mbat (1) @0 Ui,
@+ (1) = x5ecO — ytan® =5 —eoeeeeeeeeeeen 3) kcos® 0 + ksin@ = a - b2
() +(3), 2xsecO=6 k=a?- p? . 3)
x50 =3 remecmeemenaeenas (4) (2), 3) @BHE,
(- 3), 2ytand = -4 a-;‘ - b); =ag_ p?
ytan® = =2 cemememee - ) cos"6  sin" 6
% %
@ Bodbe. sec0 =2 lox) = (62) 7 =(a - bz)%
X
‘ (cos3 G)A (sin3 B)A
-2
©) @dopa. 0=~
’ @) + oV %
sec?® - tan®0 = 1 = cos’ 0 + sin’ @ —(a - )
2 2
-2 9 4 2 2 2
(3) H hFTET (ax + (635 = (a2 - 57"
x y x Yy
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® sHuyesond 35

@)

®)

@)

A, B,C esiiuen (psCaiendl qenien Caremmisens @mabginCung

cos® A + cos’> B + cos* C =1~ 2cos Acos BcosC eiem Blmieys.

2A+B=§gmm

1-2tan A - tan® A

tanB = aens B HS..
1+2tanA—tan2A ®

o
FOSTG x2+2x—1=0 @6 S (P tan—s- SIALMBUID DIHET

Gugored JE — 1 steusmGWID 2 WHHHE.
tan® oisen LMD PeVld 6TaMsd (0,1:) siigID eIFFe0 O b BT,

(1993)

cos2 A+ cos® B + cos’ C

.26052 A + 2cos® B + 2cos? C]

1

2

= % .1 +cos2A + 1+ cos2B + 2cos® C] .
1
2
1
2

==[2+2cos (A+B)- cos(A-B) + 2cos? C] '

=2[2- 2cosC-cos (A- B) + 2 cos? C]

=1-cosC [cos (A~ B) + cos (A+B)]
=1-cosC-2cosA-cosB

=1-2cosA-cosB-cosC
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24+B="
4
B=2_24
4
tanB = tan (1—2 A)
4
tan—7E ~ tan2 A4
tanB = 4

)
1+ tan;— ~tan2 A

tan B = gﬂ
1+ tan2 A

2tan A
1-tan® 4
2tan A
1- tan® 4

1-
tan B =
1+

1-2tan A - tan® A

tanB =
1+ 2tan A — tan* 4
8 4
tan A (= tan%): X eeis
1-2x-x%=

xz-ziJE
2
x=—liﬁ
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=0 = tanB =0
4



0< tan% <1 esugTe0 @)

n
ta -;: 2 -1 &ew.

apeutissiien QUESGHSHOSTMS | YPESLW.

m
tan0-tan— = —1
8

b1 T = 5n
= tan® = —cot— =tan|{ — + — | = tan—
8 8 8

2
- 0=/

2_gryewnd 36

@

®)

neZ,0 #nn SO -~ BOG.
2

1+cos® +sin® 1+ cos6

sl ST [BS.

sin0 ®)

1-cos® + sin®
ele0suT Gioll x @M@ Ib 8(cos Sx + sin® X)-”-ﬁ +3cosdx eend &1_[HS.

BHOOHE S0 Camelsors — g <x<t

2l
2

6 . . . .
y=cos®x +sin®x B& aIIUI LEHLUYUITE CUMTE.

n n
Y Sx< Y BgusiiCen Fwan®  cos® x + sin® x = k Wb

(i) Sreymsit ReveoTHELUSDO

(i) Bodasst wIAID BEOUSBS

(iii) cpeiim Sreymsit WISHID BGUISBS

(iv) Breiie Srayss LISHTD BOOLSDS

k @& QupioTeRsmE Sisbevg QupioTaEsTsn alFams 2 UihSHs.
(2000)
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1 +cos® +sin® 1+ 5inB + cos®

1 —cos® +sin®

1 + sin® — cos0

[(1 + 5in 0) + cos 9]2

(1+ sin(i))2 - cos* 9

(1+ sine)2 + 2cos0 (1 + sin) + cos* 0
25in0 (1 +sin0)

2 (1 + 5inB) + 2cos6 (1 + sin)

]

2 (1 + sin®) (1 +-cos6)
2 sin © (1 + sinB)

1+ cos0
sin6

8 (cos6 x + sin® x)

=8

(«':os2 x + sin® x) (cos4 X — coS 2 x sin 2x + sin® x)]

=8[cos4x—coszxsin 2x+sin“x]

=38

. 2 .2
(cos2 x + sin® x) - 3cos?® x + sin’ x]

=8—-24cos’x - sin’x

=8— 6sin’2x

=8-3(1-cos4x)=5+3cos4x
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y=cbs6x+sin6x=é+§cos4x ,:‘ESXSE
8§ 8 2 2
Y&t o_wirey) Gugnonein — £+§ =1
8§ 8
cos4x=1::~x=—1t—,0,—7E
2 2
&1 @feys Gu wrr T > _3_1
oTeid = — ~ — = —
y 2] i 8§ 3 4
cosdx =-1>x = —E, z
4 4
5 - -
Y == aeien, cosdx =0 l, —3—15, E,—3£
8 8 -8 '8 8

@ Kk <% ooy k> 1 aafisr, Liny Beoene.
iy k =% acller, Bn Sroyser o_awi.

(i) k=1 aafer, weap s 2 i,

(iv) 7 k <1 aafier, preg iamsi 2_ewip.

[y=k acignd Can@ x DFFDG SOTHSTOTGSLD.

y=k ocigu Csr® y=cos®x +cos®x gD eusmenuienw Qe (Hib

yeefisenonsd &mgis. ]
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2 _Fryswnd 37

@

®)

0<x<2n W@ 4sin®x +12sinxcosx - cos® x+5=0
RE Bhds.
WaCarafileg enaat QpHiamuud, Csramaer CEdepwuid IBSEMISHS.

b+c _ cta_a+b ggs Syuu Benengl; Bmig
k-1 2k 2k+1

kopeng) 2 @eond Quitugid apemed 4 BDG&F FWITS GOOTHHIDTEN
SIULCL. @ BlenpOeuesi oy@b. a,b,c eisiuen UPEHLOTEI GO 1pe0
90 WsBarel ABC el ussmIEsT DG L.

sinA sinB  sinC
k+1 x =k—1 s ST (Heb.

BB cos4 & k uleir ariied Gubgy

cos A _ cosB _ cosC' .
(k-—4)(k+l)— k2 42 (k+4)(k—1) STl &ML (Heb.

@mi AB,C hj;péiswnm &H(HSHSHIHHEN D_GHL LIS
(2000)

4sin® x + 12sinx cosx —cos*x +5=0
2(1- cosZ;c) + 6sin2x — (-1—+520—s£x—) +5=0
125in2x — 5cos2x +13=0

Scos2x — 125in2x =13

— cos2x — -1—2- sin2x = E
1 13
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5 . 12
cosa - cos2x — sino. - sin2x = | [COSG = E' sina = E]

cos (2x +a) =1

2x +a =2nn n - BenpGuwes

o
X=”7T-5 n - PepGwem

a o
- PY 2n - £y si@iuet 0 @@ 21 BDGBamLulsd B
FTeyBTTG L. '

(b) eser s sin A _sinB _ sinC

)
@

&)

a b c

,
b +c? -a?

Carengan elg : cos A =
2bc

b+c _c+a a+b

2k -1 2k 2k +1

b+c c+a a+b 2(a+b+c) _a+b+c

2k-1" 2k  2k+1 6k 3k
‘b+c_a+b+c:>b—c _la+b+)-(b+c) a4
2k -1 3k 2k -1 3k-(2k—1) k+1
c+a a+b+c c+a b

= - = —
2k 3k 2k k
a+b a+b+c a+b ¢
2k + 1 3%k 2k+1 k-1
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(1 (2),(3) @sSwia

a 2 _
k+1 &k k-1 T )
a b c
3 = = = }_ 5 ———————————————— 5
QAT sinA sinB  sinC STeme ©)

sind _sinB _ sinC .
4), (5) Bemha k+1  k k-1 S

b2+C2—02 k2+(k—1)2—(k+1)‘2 k-4

= = = (6)
cos 4 2be 2k (k- 1) 2 (k- 1)
@+ -p (k) (k=1) -k K +2 )
cos B = = = , --(7)
2ac 2 (k+1)(k-1) 2(k+1)(k-1)

b -2 (k+ )P+ k2 (k-1 k44 g
cosC = = = 8
2ab 2k (k+1) 2(k+1)

(6), (1), (8) @0,

cos A - cos B - cosC _ 1 4.
(k-4)(k+1) k2 +2 (k+4)(k-1) 2(k2_1)
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w

Lisvaleorl LuiBa
cos@ + sin @ = \2 cos®  eraflan,
cos 0 — sin® =2 sin @ s (BE.

xcos® — ysin® =a, xsin® + ycos® =5b eaafier,

0 m& angngl x,y,a,b @ndenL Gu GSTLIY QRIS S,

1 1

- =cot2A
tan34A ~tan A cot3A4 - cot A

61601 [Bmi6ys.

2tanB + cot B =tan A eiafein,

ot B = 21an (4-B) e Bpieys.

asin® = bcos0 = c-tan20 eaefien,

(a2 - b2)2 = 4¢? (a2 + b2) oens &TL(Ha.

(@) sina (l+tana) + cosa (1+cota) = seco. + coseca atem FHipieyss.

7
(b A+B+C=5 ereent,

sin® A+ sin®* B + sin® C — 1 =2sinA-sinB-sinC e [Hpieys.
(@) (1+cosecA +cot A)(1 - sec A+ tan 4) = 2 e Fmyoys. -

o . -] . o 3
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11.

12.

13.
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A—B) _a-b
2 a+b

(i) (b+c)tan (B
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P mub O eaugd epwwmmemsad p,q (p*q) sy (pemmBGu

SDISNTED GETEHL @B @b SN UL Lot Y Band Y @epd

@ Gau pdlamen. Baremid PXO = o eymey, UL SFeT B GuTgs
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®  x.x;
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ageiver o @ wrflefllure e aim sweiurT@

QaIiled xj+x; =0 SDidG xXy3-x; ey n wa @m
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